e .
i\ Mozamimel HUd) —
ot TAPP BREP

INSTRUCTIONS FOR SPLICING OVERHEAD CONDUCTORS
USING FULL-TENSION AUTOMATIC SLEEVES

a nrTh
-__-_'-“‘“““mﬂ“lw .

[ Preparation of Conductors:
| . Cut the conductor sauare so that all strands are even, in lay and free of buyrrs.

2. Straighten the conductor to remove any curvature due to coiling.

3. Cleon the conductor thoroughly by using o wire brush which has been cooted
with o liberal quantity of inhibitor, Wipe off excess inhibitor ofter cleaning.
It is just 08 important to cleon new conductors as well as old conductors.

4. The coductor size ond type stamped on the splice must correspond to the
o

hakrabort )
s

size and type of the conductor to be spliced.
5. Measure and mark the conductor with electrical tape to insure full insertio

-"‘h C
APP Ror o)

i(F

of the conductor into the splice. One half (1/2) the length of the splice So

is the measure of full insertion. &9

/'* =
ok
il Installotion of the Automatic Splice . §§
|. Remove the colored end plug (if provided ) by pulling out with a slight f_;'_?
twisting motion . €5§

2. Do not remove the conaucror runnel quide or the internol pilot cup i

(if provided) from the splice. These components confine and guide the

conductor strands for easy insertion. =L

3, Insert end of the conductor into the splice, and with o smooth straight thrust ;f

push the conductor through the gripping jows unfil the conductor hits the - ?

center stop, é”‘_{é

4. Visually check tope marker to verify full insertion. Remove the tape morker “.g

5. As tension is applied the conductor will move 1/4" to 1/2" from the end of the )

splice due to the sliding oction of the gripping jows.
6. After completion of the splice installation and before the choin hoist or rope blocks
have been released, an additional momentary tension (jerk) should be aopoplied

to the conductor to "set’ the splice ond assure proper installation .

YR T 1% O SIS e W) 5490

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Desctrption: 33 KV SPLICING GUIDE FULL- TENSION AUTOMATIC SLEEVES

Date of Ongin Reviewed by Approved by Revision No. Unit Designation

July 1979 BREDB BREB Board 6 TM46

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020

T e L 4 4 saam )



33 KV PHASE CONDUCTOR
LA ™ N2

ER ?
e |
el i
S = :
= = = = = 1;‘:‘:: |
? 7 . v 2 o i
& - 2 —N . 2 T
8 & & o 2 3
W AL orsE sy Sy bk ;
RUNNING CROSSING OV'E:R OVER OVER “'IAYS ABOVE ;_’jg
ALONGSIDE | OVERROAD | COMMERCIAL | ppSIDENTAL | ACCESSIBLE RAIL ROAD=f
OF ROAD BBIVE WAYS | DRIVE WAYS 10 TRACKS =}
s Kol 38 PEDESTRIANS
ONLY
ONLY
P
ABOVE GROUND, RAILS, ROADS >
s Sift
) Ll
¢~ 33 KV PHASE CONDUCTOR —, ﬁ;
8=
X 7% c
LY m
3 . g
" < o =3
“ID < < ’6_.‘%
&=
[anaN
Ex
&
> 8
Sk
S
N ZS\\ _
Communication | Secondary or | 1KV 8 33KV OVER BLILDINGROOF (% INCREASE
~ wires 8 cables | Neutral Primary TO 17-0" IF ROOF 1S ACCESSIBLE
TO PEDESTRIANS)

AT WIRE CROSSINGS ABOVE BUILDINGS

™ -
NOTE!
I. CLEARANCES AS SHOWN ARE AT 609, NO WIND, FINAL SAG,
2 . VERTICAL CLEARANCE OVER NAVIGABLE RIVERS ARE AS AUTHORIZED BY INLAND WATER AUTHORITY.
%MW‘“M SR O (@Y Oy SHfe
(Ram™  Boesd), BRED IR SR Frew w3340
Asst. Secy-
BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Description: MINIMUM CONDUCTOR CLEARANCES FOR 33 KV LINE ﬁ
Date of Origin Reviewed by Approved by Revision No. Unit Designation
July 1979 BREDB BRED Board 6 TMSO
Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




GUYING DATA
HORIZONTAL CONDUCTOR TENSION AT LINE ANGLES
(PER CONDUCTOR)
conpueron——~2woe| 80 | 100 | 1s° | 20° | 259 | 20° | 35° | a0° |a4s° | s0° | s8° 60°
N8 3ACSR 360 450 520 600 670 740 810 880 940 1010 1080 1140
¢ ¢ ¢ ¢ % t Y Y L T T
4/0 ACSR 610 880 1110 1330 1550 1770 1990 2200 2410 2620 2820 3010
477 mcm ACSR 630 900 1160 1430 1700 1970 2230 2470 2710 2950 3180 3420
. | 1 i : L i A i % A 2
~
CONDUCTOR DATA
QUTSICE WEIGHT [ULTIMATE MAXIMUM
SIZE DIAMETER] STRANDING CODE NAME PER STRENGTH TENSION
( AWG ) (INCHES)| AL. STEEL 1000 FT. (1bs) (lbs)
1
3 0.281 6 I SWALLOW 72. 3 22380 745
4/0 0.863 6 | PENGUIN 2901 8350 2276
477 0. 858 26 7 HAWK 657 19500 2687
~ W
~ e
(NI, Vibzames riug, Consultant TAPP, BREB
< Ad. Duhidul :nJJmJ § })n‘%\ﬂta“? TAPP, BREY
Pur Rehman sonsuitant - TAPP 'BRE
8 ot TAPP, BREB
e »)nikx/.l\mfa hortty) AhSanMoﬂﬁ:}
o PD, TAPP, BREB: Asst. Secy. (Board), BRER
4. AN e RﬁB
BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Description : 33 KV CONDUCTOR AND GUYING DATA
Date of Origin Reviewed by Approved by Revision No. Unit Designation
July 1979 BREDB BREB Board 6 TMS1
Revision Date: July 1980,

"

June 1981, Auguﬁt 1989 luly 19‘)5 August 20]? Febmary 2020

L

l B il




crn/ |\'
aa : \cl-ek
1
1016434 |
/N
g |
! -
| BE
1524 ¢ 5-0My i : \ ) :"'é i
152 u>":-' Tl 686 1223 Z £2 52
sted [ 1] e
- 229097 ] < S
:it:,;:J.','] SE
s B : Bl é,é
B —— !..g .z.... o A i 5, __,.W._..".-._ i .{I_.
’k. i I :lu B3 (17 ‘V
e 157 | f %’?&
| | Em
? | 28
| e
c-d-ek | ! }
, | | =
152 16") | i | {:'ﬁ
6 (2%, a ki S0
Nt //-— 686 (237 | ll | 386 (2.1 [ E'IE
& / B o 686123 Za
= L] Sa
25 ]/"‘r f | ‘ 5=
183 (17" T T e 7
f !
th é I i 1] I ¥ ‘E': [Ll:
| RIS v R s i el o = _._,.I _E ...}..,___,__.-. s S nraic ) [ - W | -
»,;,: t Y I | /ﬁ ﬁ
. |
| |
~ cl I' sk ﬁ%
| 457 (18" cu z: g5 8
| £E 32
| 283 E
Note :- | g% =3 =
1. Normally Bolts will be used to fix the hardwares. If not possible 0 deek (xmulMan Molli) 2 & 65 35
use of G | Clamps (duly approved by BREB) shall be made. l I ! =T Asst. Secy. (Board). RRFR ﬁ%{@ 2 5440 L.d
2. Brace holes at both end should be 11/16"0 L’fj L0 O QA% SO S e e R
ITEM [MAT. CODE |Qty. MATERIAL ITEM|MAT. CODE |Qty. MATERIAL
dc B 49 04_|Washer, curved, 4" x Yi"p, %" x 11/16" hole ek B 50/138 10 IL s requi
dc B 46 02 | Washer, fat, 274" sqx. x 11/16" hole ca c13 03 |Insulator, post type, 33 KV
4 X5 01 [Crossarm, steel, channel 4" x 2" x 2" x %" x 3'.0" cut B41/B41.1/B44 03 |Brace, Steel/ Wm:d. 28"x 1/4"
B X6 02 |Crossarm, steel, channel 4" x 2" x 2" x /4" x 5-0" da B 72 01 | Bracket, secondary
cl B 95 04 | Bolt, m/c, 5/8" x req'd. length cny C23 01 |Tnsulator, spool
c B 6/7/8 Q6 | Bolt, m/c, 5/8" x req'd. length

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:: 33 KV STEEL CROSSARM CONSTRUCTION TANGENT POLE

Date of Origin

Reviewed by

Approved by

Revision No.

Unit Designation

July 1979

BRI

BRIDB Doard

[§]

TM-52

Reviston Date: July 1980,

June 1981, August 1989, July 1995, August 2013, February 2020

onsultant TA pp ning“n




o
/ /E’:'-I /
S/
/ P TOP VIEW _,'wm‘ i z
AN
<imn
! \cl-ek é«"
da 1 3
l Ve e
| 1016 (347 - 5;'3"'.5?
/ | o 1Y
| / £ 5_5
8 | SR
l 1 25
1 152 107) :'!‘é";"‘-:
| 1524 (5-07) \ 6 d{f:—
152 16— - 86 (23 z
|_ i1 i 152 (6")
220494 ﬁi
i
o i | i
r«_ ..___I_m. _!_ __EE]W%_, V it -
=T - Y ¥
qJ;;; =1 cl
i E
| 12049 (40"
i | I o
R Sh €.
/152 6 : ! : 152 ;{-'1-\ ,3;';';
LEEN 2 £ 0 £ f $x
% _ﬁ //—. 6 (237 } [ 4 86 123" .4 (50
£ s =
S 83 4177 l | 30N 80
| 1 1 ] P
i | | h g
‘qm} _—-(k_——_—-__'-_w—-fﬁ—*_—ﬂ_ﬂm mﬁ_..}._’l!_ e . m%_
au o
e m
i %‘l o
8 =8
14 cl hfl 255
437 (189 cu J%L:% é;jg
2= 23
Note :- g ¥ SE
1 Mot - : 115) S =
I. Normally Bolts will be used to fix the hardwares. If not possible Aﬁ{&:mw;q o
use of G [ Clamps (duly approved by BREB) shall be made. pst SecY Mearh P
gsl. v
2. Brace holes at both end should be 11/16%¢ Ui AP
ITEM [MAT. CODE [Qty. MATERIAL ITEM|MAT. CODE |Qty. MATERIAL
de B 49 04 [Washer, curved, 4" x %", %" x 11/16" hole ek B 50/138 27  |Lockn i
de B 46 02 | Washer, flat, 2%4" sqx. x [1/16" hole ca C13 06___|Insulator, post type, 33 KV
g X5 02 |Crossarm, steel, channel 4" x 2" x 2" x '4" x 3'-0" cu B41/B41.1/B44 06 |Brace, Steel/ Wood, 28"x 1/4"
g X6 (3 [Crossarm, steel, channel 4° x 2° x 2" X Va® X 5-0" da B 72 01 |Bracket, secondary
cl B 93 07 |Bolt, m/c, 5/8° x reqd. length cm C2/3 01__[Insulator, spool
c B 6/7/8 03 | Bolt, m/c, 5/8" x req'd. length

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 33 KV STEEL CROSSARM CONSTRUCTION SMALL ANGLE SINGLE POLE UPTO §° ANGLE

Date of Origin

Reviewed by

Approved by

Revision MNo.

Linit Designation

July 1979

DBRIDR

BRIEDB Board

)

TM-53

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




Alternat

=

Wy

M

[Frars
a

r

'?‘; ity

Lol

TA% -
enttant

Nt
ARED

S MU LR e} ’-/
o ¢
& 55
. 7 o5
5
£ &
o
- & Qf
Ay
3, =
o Bie
%
I4 = = £ J
D1]0) & \ : &
|
[ ] ey w o
¥ , (P = ar
. i ¥ f‘.:i
| ] o -
i ' G
|| { 5
| - -
| | * 8F i
a o
! 2 ge
o~ | D BF =8
1 N+ 2 o
! o | S £ ge
~ i | e €
& | 2 & 25
: | br I i‘?p‘_‘f = -:E
! '; T‘.-) arE
! Note ;- J;
@;é I,::m\aﬂy Bolts will be used to fix the 3 |
rdwares. 1f not posgible use of G 1 Clomps -
WS .. {duly approved by REB) shall be made. w
P )
ITEM [MAT. CODE |Qty. MATERIAL ITEM|MAT. CODE Oty, MATERIAL
8 CS5 O |Insulator, pin, 33KV tk 2 38 33 |Locknuts, as required
i B 122 01_{Pin, crossarm, steel, 33KV da B 46 06__|Inzulator, post type, 33 RV
k Cli 18 {Insulalor, suspension, 33KV €u B41/B41.1/B44 oa race, Steel/ Wood, 28" x 1/4"
B ;{l %_ sarm, steel_channel 4° x Z X2 K Ve K sj" n BzBF 27/B28 | 06 grql_:, double arming
£ . Crmurm, IIGUE,_ h T4 x 2" x 2° % A" X 50 | 3133 [©23] amp, deadend
¢ B38| 08 [Bolt, mic, 578" x reqd lenuth [0 T3 U7 [Spool, Tnsulaier
] BT 02 {Clevis, Secondary swinging [ B13 01 | Bolt, eye 5/8"p x required length
<l Bo5 08 (Boll, mic, /8" x req'd. length - + [Plate, arming 14 or 12" x 4" W]
- 5 04 [4-way pole band di B4 02  [Pipe spacer

BANGLADESIH RURAL ELECTRIFICATION BOARD

Unit Description: 33 KV STEEL CROSSARM CONSTRUCTION, 8> 30° ANGLE, H- FRAME

Date of Origin

Reviewed by

Approved by

Revision No.

Unit Designation

July 1979

BRLD

BRED Doard

6

TM-53

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




/
/
/ Shield wire
ek—0~d mt ///
)
5 \ N
e i
/ 4 o
p
1. Position o \
. Q uy
2 (| PLAN N
2 x A x \
N\ e
m 1 £
o (o~~~ =~ = = T/
ol e 3 b
[ | | bo NCOTE C ;;.'
| /H‘ f 1. Connect ground wire to shield wire. <
- 1R 2. Ground wirs to be installed on the opposite
K F;ui&zn ” | gide of pole from suspension insulators ~i
b | 3, See Dwg. TM41-10 for suspension 2&
U-{_‘J gasembly details Be
SR ;! ER /
- <l —W _____ - 25 [/
I = gE //
‘o | | ! ek "/
} l ; \ o e
i . a
b | ‘ l\ Pasition —:‘li -
I e
= / > I
i e, &5
| | Note 2 SECTION X-—X =g \ 8o
‘1‘[1' —‘@Cﬂ(ﬂ(ﬂn— _____ -
4 P I I f""E \\
’ 0 ! ‘ | g&
2 a ~F
..___.ll._ e R R 3900 <2 gg
# " -1
/lll | -hqbﬁwﬂsm e 8 JEk
P:s(i;uon | | T z % =
of Uwy Ill l : ' e 13__:?"_?
Na= £
ITEM [ MAT. CODE | Qty. MATERIAL ITEM | MAT. CODE | Qty. MATERIAL
d BaG/118 04 Washar, square, 2 Va" m B 134/135 03| Clamp, suspension, 2 bolt
k Cll 09 Insulator, suspension, 10", 33kv ek B 50 04  |Locknuts, as required
bo B 55 04 Shackle, Anchor 0 B 18/19/20 04  [Bolt, eye, 5/8"¢ x required length
P 15/16 - Connectors, as required ml B 82 01 |Clamp, suspension, | bolt

BANGLADESH RURAL

ELECTRIFICATION BOARD

Unit Description:

33 KV VERTICAL CONSTRUCTION 30° o 50" ANGLE

Date of Origin

Reviewed by

Approved by

Revision Mo,

Unit Designation

July 1979

BREB

BREB Board

G

TM-55

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




=

{ [

i Pesitien of Guys

o~d-ek

T—— e e A——

s
Y 1
| | [ p Nota 27 Guys c
it o=d=ak :
| | | | Position of guys e ?ﬂ%
! | .
. 1| l g2 \)E=
= | \ E= Y EE
NOTES : =8 A=S
f (o BF =7
1. See Owg. TM41-10 for deadend ossembly details, - SECTION X~X. "é:‘: =1
2. Connect shield wire to ground wire. ¥ -
3. Ground wire to be installed on quadrant between guys, =4
4. Instoll top eye bolt in pre—drilled solit bolt hola. =
3. Instead of secondary clevis, loop deadend clamp & spool insulator, deadend clamp may be used
ITEM | MAT. CODE | Qty. MATERIAL ITEM | MAT. CODE | Qty MATERIAL
d B46/118 08 Washar, square, 2 4" aq D 3123126 s Jumpers,
k Cll 18 Insulator, suspension, 10", 33ky t B 132/133/112 06  |Clamp, deadend
bo B 55 06 Shackle, Anchor ek B 50 08 _|Locknuts, as required
p 15/16 - Connectors, as required 0 B 18/19/20 08  [Bolt, eye, 5/8"p x required length
cm C2/3 02 Insulator, spool 8 B 73 02 [Clevis, secondary, swinging
; bn B 85/86 04 [Clamp, loop deadend

BANGLADESH RURAIL ELECTRIFICATION BOARD

Unit Description:

33 KV VERTICAL CONSTRUCTION 50° TO 90° ANGLE

Date of Origin

Reviewed by

Approved by

Revision No.

Unit Designation

July 1979

BREB

BREB Board

6

TM-56

‘| Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




‘]-—.N( (™

g FaJk
i I
! 2
I I em—r] | i Alternat|ve
| | 1 |
I : : : 1nl6 4y
I | | |
il TOP VIEW 10|
t 1 143 (A 13 + " |
f i A et y |
142 5" o i e ! S i, ! =192 (6 HEAIR
r =iy =
il il =
2l |J b 1 |§ i 1 EAZ L")
220 {9y | { Ty
_ - gt iclh
_____ Sy, , T g If
% | 1 &3 - TR 7 A
: !
¢ 0 df=i4
g | Wl ~Lil
: 1y I | 120 3 fff
i 5 B8
= ]
2 * 8
o § 2
o =&
o ;g
=
=
Q. 0
L5
m @
on
ug
8o
m L
: e
—F ﬁﬁ_
(2% (T
: e
&= g2
é" o e
8 35
2 §E
Note :- B <5
; t. Normally Bolts will be used to fix the 3 =37
. hardwares. If not possible use of G I Clamps Y g ; = (Sm
£ | i N s
; (duly approved by REB) shall be made. |
T e
ITEM [MAT. CODE [Qty. MATERIAL ITEM[MAT. CODE |Qty. MATERIAL
c B 5/6/778 04 [Bolt, m/c, 5/8" x req'd. Tength ek B 50/138 19 |Locknuts, a3 required
B B3 01 [Clevis, Secondary swinging da B 46 02 _ |Insulator, post type, 33 KV
cl B 95 08 |Bolt, m/c, 5/8" x req'd. length n B26/B27/B28 | 05 | Bolt, double arming
k CIT 09 |Tnsulator, suspension, 33KV " = 1 B 132/133 03 [Clamp, deadend
g X7 04 |Crossarm, steel, channel 4" x 2" x 2" x 44" x §'-0" cm c213 01 |Spool, Insulater
g X6 02 |Crossarm, steel, channel 4" x 2" x 2" X /a x5-0°|| o B 18 01 _|Bolt, eve 5/8"¢ x required length
- - 04 |4-way pole band + - 02 |Plate, arming 14" or 12° x 4" x 4"
- B 64 02 |Pipe spacer Fes

BANGLADESH RURAL

ELECTRIFICATION BOARD

Unit Description: 33 KV STEEL CROSSARM CONSTRUCTION TANGENT SINGLE DEADEND

(For Grosbeak & Mallard Conductor)

Date of Origin

Reviewed by

Approved by

Revision No.

Unit Designation

July 1979

BREB

BREB Board

&

TM-57

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




Elevation ' Bushes
After Clearing

NOTES=

More consumers lose service because of tree damage to transmission lines
than similar damage to distribution lines,so 'tree trimming requirements
are correspondinaly areater and must be strictly enforced for 33KV construction.

Trees like cocoanut palms which lose all their leafage, when topped because
they intrude into the danger zone, must be cut off level with the ground
regardless aof their location.

On level ground, rapidly growing trees should be considered for topping or removai
if they would reach within & feet of a point immediately below on outside
conductor in falling.

—~ : \Wﬁ
ol ” C(SITSH”;U;I I;j Khalege,
Nozammel B ~'APP, BRER

vy 1Sain) t\,\ﬁﬂ AT AR}

ki,
$ur Hanman) +onsuliat

s
MG iant TAPP. BREB
% e
N
\@Q;f"
(Debasish Chakrabiortty) S A
(Md. Ahsanul Haque) PD, TAPP, BREB» ~ 6:_,,5,?: _ frof W41
“onsultant TAPP, BREB ?’EQ} ot @ﬁm NS

BANGLADESII RURAL ELECTRIFICATION BOARD
Unit Description: 33 KV RIGHT OF WAY CLEARING GUIDE

Date of Origin | Reviewed by Approved by Revision No. Unit Designation

July 1979 BREDB BREB Board 6 TR1

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




3-4/0 ACSR

s |

¥

L__ﬂ__,\

Sky wire 1/0 ACSR

Pole Ground

Lk,

T

E e
| T 0
gmwnﬁ—ij\\)

- 2-12' Crossorms _&
dr ] %‘%
47" ‘;9-'-
¥ e 2
\ - 5%
Storm Guys o ’%*’i f
- €L S g % o
£3 %
: = 28
8| E ?,;;%
a i = ot
@ : " g 22
" & ' O 2%
]  fPole ZE
_ Sleps ..,_O Speciol
. L - ! + 3-3/4" x 40" DA Bolts
@ ) O Rolled Threod
HO Golv.
Gy
i : t 0
= AEF
= -
r - (O 27
jefl O A = &
i 4 - e 2-60' C). 2
o~
o]
Bog Shoe * e
Concrele Form __o
ol “4— ¥ x¥x 5'\ g‘&
s a4
-_3 ;: Ground Rod EE
Lg § e B=
1 £
= 5(‘5 6 Concrete Ef
l"“ 3 Soling S ¢
BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Description:  TEMPORARY SPLICED POLE FOR 33 KV RIVER CROSSING SPAN - 600'
Date of Origin Reviewed by Approved by Revision No. Unit Designation
July 1979 BREB BREB Board 6 C42

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




B é

am)
P AREr

e

sul

A}
on

)

Rahman
"APP. BREB

(Md i\-ioz:hur
nnsultant T

Moximum after
strain 18 applied

NOTE !

e |. A preformed deodend for guy strand may be

v o

e =

@ O @

Ea

E = =
g e
= T f_;
3=
=E
5

Md . Ansanul Hague)
. tmm.'I'APP.a&En

Consul

(Ma

(Debasish Chakrabority)
PD,TAPP. BREB.

URSTIRSTIRS

substituted for the 3-bolt clamp shown.

TEI=2

TEI-3

23/8" Guy Wire

7/16 Guy Wire

) OV I e e P 24900

-

R

|

(Ramro! AW€an MoTlik)

fr

Asst. Secy.
Femi :

NO MATERIAL ITEM [ NO. MHAT ERIAL

¢ | | Bolt, machine, 5/8" -
) v I Guy Attachment, Heavy Duty

d | Washer, square curved,3" Y, 3/8" Guy Wire (TEI-2)
: 1" i PR
j | | Screw, lag, 172" x4 Yo 716" Guy Wire (TEI=-3)
p | |Connector, compression type ek i L ocknut, 5/8"
5 : T T T e e e

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:

33KV SINGLE DOWN GUY THROUGH BOLT TYPE

Date ol Origin

Reviewed by

Approved by

Revision No.

Unit Designation

July 1979

BREDB

BRER Board

G

TE1-2 & TE1-3

IRevision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




Md A
Consilltant T4 ?ﬂf lgq;gf

1
Md. Mozibur Rehman)
vt TR Py PRER

7

NOTE!

~

LM&%

que

tTAPP BR}:?;

Sanuj Ha

nsulfan

S

.
—F

I
| i

/ .

/ i
/ i

LA

™

F BREE

{Debasish Chakrab~"
PD, TAPF

down lead

PI.LAN OF POLE A

erv
-~ Serve e OTT)

\5’1 or Yo D§A. .
A7

Qaq
Connect to /

8
—-"—'.%r\-'

|

__TE2-2 [ TE2-3

3/8" Guy Wire 716" Guy Wire

-0

I. A preformed deadend for quy strand may be
substituted for the 3-bolt clamp shown.

e
Asst. SecV i

Gid

A‘_h‘.';'ﬂﬂ Mn‘ﬂﬂﬁ

MATERIAL LITEM | NO. MATERIAL
| Y, 716" Guy Wire (TE2-3) ‘_
d 1 Washer, Curved, 3" ab | Nut, Thimble Eye,5/8"
p Connector, Compression type e | Bolt, Thimble Eye,5/8"
u 2 Dead-end for quy strand aq Jumper, N—4 Alurninuir
v, 3/8" Guy Wire (TE2-2) ek | 2 |Locknut, 578" |
BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Descriptio

n:

33KV SINGLE OVERHEAD GUY THROUGH BOLT TYPE

Date of Origin

Reviewed by

Approved by Revision No.

Unit Designation

July 1979

BREB

BRER Board 6

TE2-2 & TE2-3

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020



5" max
SEE NOTE 1

aq
J"|'—c-d--ek

| Anti-split
l bolt I I
]
| [ =8 Ly 4@&
| &5 £ ﬁé” |
N 32 T %
l :g [ 1 |~ Rammd ""[’%ﬂ“f‘“_“‘“
3 [ AT
[ |

1. Normally o stub pole 5° shorter thon deadand pole will provide the required angle of 25 or less.
2, For T26A top toke—off a 5' ghorter stub ols must be located 25’ or more from the take—aff pole. 4
3. A separate TE1~2 or TE1=3 down guy unit is required for each guy wire of the TE5~2 unit, TE5—2 thimble eys

nuts are odded to the down guy machine bolts ond the suspension insulators double arming bolts,
4. Two anti~aplit bolts are required to ba installed on the stub pole. :

5. With multiple down guys two or more anchors will be required. The spacing betwsen anchars sholl be sufficient to provid:
the maximum holding power of each -anchor. The obsolute min. anchor separation shall be '
6. A preformed deadend for quy strond may be substituted for the 3—boit clamo shown.

o ‘
/ f
/ NOTES : /WW’LRT;IW\'WT
/
/
/

ITEM | MAT. CODE | Qty. MATERIAL ITEM | MAT. CODE | Qty. MATERIAL
c B 6/7/8 02 Bolt, mic, 5/8" x required length u E 22/23 02 Deadepd for guy strand :
d B 46/118 04 Washer, square, 24" ab B 54 04 |Nut, ﬂ‘tlmbls type, eye, 5/8"p :
p 15/6 - Connectors, compression type y N 2/3 - J(}uy m:v, 3/8" }:]i;fqm as required
i aq D4 - umper, as req
ek B 50/138 04 Locknuts, as requme.d = 537 0T Bol, thimble type. éye, 38"

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 33 KV STEEL CROSSARM GUYS FOR HORIZONTAL DEADEND

Date of Origin Reviewed by Approved by Revision No. Unit Designation

July 1979 BREB BREB Board 6 TES-2 (Page 1 of 2)

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




Anti—split
boit

| e ]

16/ M 93300

ue)
FR

PR

E E E = = ==
> :
L o 3 |
S s v g l |
' 3 l |
b
A— i
STUB POLE E bolt » l !
Ve DRILLNG GUIDE c~d-ek | | S
sHiED_ T26A APPLICATION . ; §m 2
e a faa)
WIRE TE2 -2 ‘\—p ] =R
: B =
[ ] 5= gt
33 Ky STUB' POLE B2 =3
A - ASSEMBLY GUIDE S8 SE
TES=2 NOTES :
25' (4) 1. Holes A, B, C, F are pre—drilled as per pole
‘-—_—MiN!MUMW TE1 -2 framing guide TM20.
2. For T7 application drill hole D.
T26A STUB 3. For T7A and T26A applications drill holes
POLE D and E.

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 33 KV STEEL CROSSARM GUYS FOR HORIZONTAL DEADEND

Date of Origin Reviewed by Approved by Revision No.

Unit Designation

BREB BREDR Board 6

July 1979

TE5-2 (Page 2 of 2)

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




‘B

le)

Al .i‘B;

(Md, Abdul Kha
C(mgdj[qm ¢ i \I‘l

- I\ ngj
4 b k]
o S
N Ef
¢ ;lu': ' Hole dia 3/4" g'
A R .. _____ - 1¥ "'J e ol v
[ " 5 ig[ Clg e W ) - -- g
iy lecacsd bl Sty -.‘\':" == * plnd "', "'. """"""" - /e e
2) ': - ’4"’ i ey
[ S
ll c ﬁ
T : CLP
Refer to A _/ E : : ol -
for detail drawing ! i ) ' 7
of Clamps P Detail - A .)—,7
t 3 T T I . 7 3
T Galvanized Clamp Set, dia 8" or 10" 2 |
Ly TMS-30
i & ﬁ%
™ & %c:
Now - o
=
P g=ht
1. Use of steel pole recovered from - fi'g
DESA/PDB is preferred. £ 33
2. D is the diameter of the pole at f =8
the place of fixing of clamps
| ITEM NO METARIAL UNIT
LP 1 Leaning pole, req'd size & length. - NO
TM5-30f 3 GL Clamp for leaning pole, size as req'd. PAIR
F BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: LAY POLE GUY FOR ANGLE / TAP POLE
(This Unit is suitable, where down/overhead guy can not be installed)

Date of Origin Reviewed by Approved by Revision No. Unit Designation

July 1979 BREB BREB Board 6 TE7

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




NOTES

|
L « _l_
. | "y { f'i ! g — — w—
1. The spacing between the anchors shall be sufficient to q{ T a *._iE-\,' Note 3
to provide the max. holding power of each anchor. \, o -
The obstacle min. anchor separation shall be 5 feet. { g Do
\\
2. A preformed deadend for quy strand may be | @9*9@ ;
substituted for the 3-bolt clamp shown. | &
. >
& Refer_ to pple top construction assembly drawing | é@{@'
for dimensions, PR | @'s;a =
O ;
= I v 24
v
| %9
—-L'.ﬁ’f":(‘f‘lﬁ.(_ﬂ l P _.i;é %=
FABLUTL Note 3 2%
: =)
| g
| =
— 2a
] S
| <\ B
, :
45
o2
5'-0"
MINIMUM £ :
~ . N
B F -3
8% = E
,j‘:l ?"E; -
e ,«; éfg
ASSEMBLY UNIT
ITEM | MAT. CODE MATERIAL Qty (TE7-2) Qty.(TE7-3)
c B 6/7/8 Bolt Machine 5/8" x required length 03 ' 03
d B49 Washer, curved, 3" x 3" 03 03
P 15/16 Connectors, as required as required as required
u E 22773 Deadend Tor guy strand U6 U5
Y B37/58 Guy attachment, Mall. Iron, heavy duty 03 03
y N 3/4 Guy wire, H.S. 7 strand 3/8" diameter 7/16" diameter
ay B B5/86 Clamp, loop deadend as required as required
ek B 50 Locknuts, 5/8"¢ 03 03
BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Description: 33 KV THREE DOWN GUYS WITHOUT SHIELD WIRE
Date of Origin Reviewed by Approved by Revision No. Unit Designation
July 1979 BRERB BREB Board 6 TE7-2 & TE7-3
-Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




NOTES : -
'+|" | b3l L
1. Th i 2nd T N;'.t-a"i T el
- Ine spacing between the anchors shall be sufficient to . N o ﬂ S
to provide the max. holding power of each anchor. \ ga
The obstacle min. anchor separation shall be 5 feet. c—-d-ek 25
2. A preformed deadend for guy strand may be 23
substituted for the 3-bolt clamp shown. _ g3
3. Refer to pole top construction assembly drawing )
for dimensions.
r‘\
5!’_0“
MINIMUM
- -
52 (B2
o o |8
EENES
g5 Y<3
Y ; i 5
ASSEMBLY UNIT
ITEM | MAT. CODE MATERIAL Qty.(TE8-2) Qty.(TE8-3)
¢ B 6/7/8 Bolt Machine 5/8" x required length 04 04
d B 49 Washer, curved, 3" x 3" 04 : : 04
[ 15/16 Connectors, as required as required as required
u E 2223 Deadend for guy strand U8 U8
v B 37758 Guy attachment, Mall_ Tron, heavy duty 0 04
y N 3/4 Guy wire, H.S. 7 strand 3/8" diameter 7/16" diameter
aq D4 Jumpers ) as required as required
ek B 50 Locknuts, 5/8"p U4 U4
BANGLADESH RURAIL ELECTRIFICATION BOARD
Unit Description: 33 KV FOUR DOWN GUYES
Date of Origin Reviewed by Approved by Revision No. Linit Diesignation
July 1979 BREB BREB Board 6 TES-2 & TES-3
Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




J(xf///—f?//-'-if//——?//-sf

[ e
Al ]l__*::
f
dl
v
T
N
- NB( %
€ Z d .
— RS %
% |: f pa=a= ; g ‘ é};‘
| ‘lo %’1 r’/-///-/// S =S 7 Wé ;9;3‘
e § ; YR BT @IS TERr ST B w yaae , §§
RN I /7
% | PLAN £
1
%‘ l Approx. after
1/}’ ---} strain is applied
— —-‘L.___._ﬂ //S!‘”"“’l é

Y =
4 "
% =
74 1 " i
| I-6 :
Y &=
. e
~| !ﬁ 8
I o
gle 1
=l G
clg
Sl Z
E|. 7
- x y i
m (.D ﬁ it ~F
ak P | gk gé
T A SECTION X-X . §§ o
v z ol g B
g 5 Y&
2 S5 =3
I — -
ASSEMBLY UNIT
TF2-1 TF2-2
ITEM MATERIAL |No TYPE No TYPE
d |Wosher, square, 13/16" hole I 4" x 4" x 172" I 4"x 4" x 112"
x  |Rod, anchor, twineye ; I 5/8" x 8'-0" 1 3/4" x 10'-0"
2 | Anchor, log ' | 8" dio.x 3'-¢" 1 12" dio. x 6'-0Q"
BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Description: 33 KV LOG ANCHOR ASSRMBLY
Date of Origin Reviewed by Approved by Revision No. Unit Designation
July 1979 BREB BREB Board 6 TF2-1 & TF2-2

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




Aluminum Wire

Ol ™. |

"Lkt ”
CONNECTOR

5,65TR

for
4Alum.

FaR R 33310

2STR
| STR
for

Color
Red

- 4 Sold {Color
Blue

5/16 'Steel

sl &

fron Wire

MATERIAL

NOTES: .

v

N
&p U
@

. Onunshielded lines,the ground -wire shall be extended beyond

. Refer to Construction Assembly for installotion location on

. The ground wire shall have a minimum clearance of 2

“lozibur Rehman)
tant TAPP BRRED

“onsult:

o

Use for equipment and surge arrester grounding . %’ é?
Down lead shall clear all hardware by a minimum of 2 ©
inches, shall not contact crossarms and shall be stapled to
maintain this position .

Staples shall be 2 feet apart, except for a distance to

8 feet above ground and 8 feet frorn the top of the pole

where they shall be 6 inches aport.

the pole top. doubled back on itself and stapled securely to
the pole so one foot of doubled up wire protrudes beyond
the pole top. On shieided lines, the ground wire shall be
attached to the shield wire,

pole,

inches from oll pole line hardwore ond be securely
stopled to maintain this position.

MATERIAL

G

| | Rod, ground, 5/8" minimum diameter

Ground wire , soft annealed iron

aj | | Clamp, ground rod galvanized, 5/16" , 3 strand
al Staples, ground wire as req'd c]g_ Ground wire, No.4 oluminum
R |_| Sleeve connector, "LINKIT"

BANGLADESH RURAL ELECTRIFICATION BOARD

nieesripion: 33 KV GROUNDING ASSEMBLY-GROUND ROD TYPE
Date of Origin Reviewed by Approved by Revision No. Unit Designation
July 1979 BREB BREB Board 6 TM?2-1

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




4

bp wig. IVioZariivel TN
’ : ‘/ '-lL‘JlLI. wvioZai ey 5
. £ i Luiau istam) sonsultant, TAPPiBRE
(i LIUDIGRE Aot i,
e At TAPPBREF

(Md. Mozibur R

~ansultant. TAPP, B : a??x?’
. AN
I e al @{\‘Q‘?‘ o 22@
ReNE- W
[ S Rx AN
2 " e
- ¢j LINKIT
i 2 CONNECTOR
5, 65TR
4 Solid Color
I for Blue
| 4 Alum,
i PLAN OF PLATE 5
. OV 38 cow |
Alumi ; olor
. luminum Wire for Red l
it NOTE 5/16" Steel ,
iron wire I. Refer to Construction Assembiy for Installation Location on
=0 & Pole.
N & 2.Down lead shall clear all hardware by a minimum of 2 inches,
@ ,2? Shall not contact crossarms and shall be stopted to mointain
this position.
ﬁ‘) 3. Stapies shall be 2 feel apart, except for a distance to 8feet
M}i © above the around ond 8 feet from the top of the pole where
'fﬂ the shall be 6inches apart.
Iﬁ 4.0n unshielded lines,the ground wire shall be extended
fl beyond the pole top,doubled back on itself and stapled
f/ securely to the pole so that one foot of doubled up wire
—~ I’|l protrudes beyond the pole top. On shielded lines,
? the ground wire sholl be attached to the shizld wire. In
},J both cases, the ground wire sholl be extended down and
f | under the pole to the grounding plate.
dh/ D 5. The ground wire shall have a minimum clearance of 2
POLE GROUND inches from all pole line hardware and be securely stapied
R to maintain this position.
ITEM|NO. MATERIAL ITEM|NO. MATERIAL 1
al Stoples, ground wire, as req’d : dh | | |Grounding plate, butt type
¢y Ground wire, soft annealed Iron bp | 4 |Nails galvanized, 1"
| galvanized, 5/16", 3 strand p | | |Steeve connector, "LINKIT"
Cin Ground wire, no. 4 aluminum olloy '
Sl
BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Description: 33 KV POLE PROTECTION ASSEMBLY
Date of Origin Reviewed by Approved by Revision No, Unit Designation

July 1979 BREB BREB Board 6 TM2_2

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




l 2 ~-- SEE NOTE 2 f—— 50" e
LT N b T
32 1T gl A oF i |
O (I b - il g b
2 1 Hgs .
32 P (io ABS )
' T Bh 2 OPERATING |
di e HANDLE~—o '
i l _:.4 ............ 012 L.O CATION R ..l._
=0 |1 Aluminum ' i i
& WA wire |
3 oL .y ]
: 1l o s
e & B uNKIT ‘ ]
i S ] CONNECTOR ai ai ‘ f
- | N | !
$ : | . c}/ b S § |
| e SECTION X- X
{ }:’j% (Detail of Ground Grid ) - bqqu
1 ; oo o i TR
SEE . <8 |
. el S. = |
P NOTE 3 .«r% (Rarmro) Ahsan Mollik) i
Asst. Secy. (Boerd), BREB.
NOTES :
el I.REFER TOPOLE PROTECTION ASSEMBLY
i TM2-2 FOR GROUND WIRE INSTAL L ATION DETAILS.
2. FOR ABS LLOCATION WHERE THERE 1S NO
SHIELD WIRE . EXTEND GROUND WIRE 1'-0" |
BEYOND THE POLE TOP. FOR ABS LOCATIONS
E TR WHERE THERE IS A SHIELD WIRE, CONNECT
GROUND WIRE TO SHIELD WIRE

3. CONNECT ONE GROUND WIRE TO ABS
OPERATING MECHANISM.

4. THE GROUND WIRE SHALL HAVE A
MINIMUM CLEARANCE OF 2 INCHES FROM ALL
POLE LINE HARDWARE AND BE SECURELY

Z jil STAPLED TO MAINTAIN THIS POSITION.
il
-
ITEM|NO. MATERIAL ITEM [NO, MATERIAL
ai | 4 |Rod,ground, 5/8" dia. gi2 Ground wire, No. 4 alurminum
aj 4 |Clomp, ground rod P Connector , if req d
al Staples , ground wire | _p {1 [Sleeve connector, "LINKIT"
cj! Ground wire,soft annealed iron, galv. 5716
BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Description: 33KV GROUNDING ASSEMBLY ~GROUND ROD
TYPE FOR SECTIONALIZING AIR BREAK SWITCH
Date of Origin Reviewed by Approved by Revision No. Unit Designation
July 1979 BREB BREB Board 0 TM2-15
Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




r
|_1/-/

s

(Md. Mozarmme: rugy

L7
4. Mozibur Rahman)
Consultant. TAPP. BREE

‘W‘;d‘ S TT]
Consiiltant TARP BRY

POLE PROTECTION
E s ASSEMBLY

LAITISL Iy = -

(Md Abdul Khal,

e

[ SEE

36" | NOTE 1

I~

2 Ci, d, ek
(3)
‘ ! USE TM2-15 i
Y GROUNDING {Debasis

5 ASSEMBLY
L

(Md. Ahsanu! Haque)
Consultant TAPP RRER

sh Chakrabdtty)
PD TAPP. BREB

TOP VIEW
33 KY DOUBLE DEAD END

ITEM{QTY MATERIAL
; 4 { Bolt, Machine, 1/2"x6" !
¢ 9 | Bolt, Machine, 5/8"x as req length X
¢ 2 | Bolt, Machine, 3/4"x as req length
d 4 Washer, Round, 1-1/2" dia

d 18 | Washer, Square, 2-1/4"x2-1/4"
g 2 |Crossarm, 3-3/4"x4-3/4"x8'-0"
i 2 |Lag Screw, 1/2"x4"

k 18 {Insulator, Sl_.l:%i‘;ll';..lision, 10" Dia

1 6 | Clamp, Deadend

n 3 | Bolt, D/A, 5/8"x as req length

[ - Connectors, as required

a | ¢ [|Nut. eye, 5/8"

aq - {Jumpers, as required

| 2 | Brace, Steel/Wood, 60" Span
ek | - Lock Nuts, as required

o 1 |Air Break Switch (ABS) Assembly

d 2 ! Washer, Sqare Curve, 3"x 3"

NOTES:

I. REFER TO SWITCH MANUFACTURER'S INSTRUCTION FOR INSTALLATION DETAILS AND RECOMENDATIONA

2. CONNECT THE 33 KV SOURCE JUMPERS TO SWITCH SO THAT WHEN SWITCH 1S OPEN THE SWITCH BLADES ARE NOT ENERGIZ)

3. INSTALLATION OF THE TM2-15, ABS GROUND MAT, IS REQUIRED AT ALL POLE MOUNTED 33 KV ABS LOCATIONS

4. THIS DRAWING DEPICTS A CHANCE TYPE COMPANY D7 ABS, SIDE BREAK. FOR VERTICAL BREAK ABS INCREASE THIS

DIMENSION TO 6'-0"

5. MATERIAL AND QUATITIES WILL VARY WITH TYPE/MANUFACTURER OF SWITCH INSTALLED

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:

33 KV SECTIONALIZING AIR BREAK SWITCH WITH NO SHIELD WIRE

Date of’ Origin

Reviewed by

Approved by

Revision No. Unit Designation

July 1979

BREB

BREB Board

6 TM3-15A

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020

\?“3-5;\ D& T HAT S By = waa .

hsan Mollik)
Asst. Secy. (Boerd), BREB.




aleque)
1 BRnp

Khal

ARj

(Md_Abdu]
Consilbig, T

. -, . o
¢ 3-8 3-8 5, @;&
- =
o G | =
+— = = ) = CF
NN
2 o ...J \ s.dek ;i;:’.
. Cu s £
¥ ) —— SEE NOTE 2 r
in SEE NOTE 4 ] i I
0 ek
$ J; $ \w dekoa
: 2t
l | I e,d,ek bode. iy i
I e ——— =
— v:(.;ilk 1
1 ™ diekao
'ﬁ—-—n S{.;.)li . "
|
RS, e e TOP VIEW
| ' 33 KY DOUBLE DEAD—END
. NOTES :
7 ﬂgﬁe \ l 1. Refar to swilch monufocturer's “Instr tor Inataliation™ for installation datoils ond
" USE TM2~15 récommandations.
GROUNDING 2. Connect the 33 KV source jumpers lo swilch so that whan switch is open the swilch
| JASS{D«I-BLY blades are nol enargized.
3 tion of the TMZ~15, Air-Breok Switch ground mat, is required ot oll pola mounted
33 KV Air Break. S\t'teh locotions.
4. This d typa D& ABS, side breok type. For verticol breck ABS
increne e e §'-0",
' 5. Malsrial ond quantilies will vary with type/manulocturer of switch installed,
~ 6. Brace holes at both end should be 11/16”¢
ITEM |IMAT. CODE | Qty. MATERIAL ITEM|MAT. CODE |Qty. MATERIAL
c B 13 Bolt, m/c, 5/8" x req'd, length P 15716 - |Connectors, as required
" B 13/14/15/16/17 2 Bolt, m/c, %4" x req'd. length aa B 53 06 |Nut, eye, 58"
d B 46 8 Washer, square, 3-1/4" aq D4 . Jumpers, as required
[ X6 1 Crossarm, stee x2"x2"x%"x l cu B42/B42.1/B45 02 |Brace, Steel/ Wood, 60" Span
g X7 2 Crosgarm, steel, channel 4" x 2" x 2" x V4" x B'-0"{ ek B 50 28 | Locknuts, as required
B 40 2 L e ! £ g H13 01 | Air break switch assembly
k Cl1li 18 [nsulator, suspension, 10" diameter d B 49 02 | Washer, curved, 3" x 3"
, suspe )2
I LA EY) 6 Clamp, deadend c B 18/19 01 |Bolt, eye, 5/8"¢p
n B 26/27128 3 Bolt, double arming, 5/8" x req'd, length da B 72 01 |Bracket, secondary
cm o) 1 Insulator, spool

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 33 KV SECTIONALIZING AIR BREAK SWITCH

Date of Origin

Reviewed by

Approved by

Revision No.

Unit Designation

July 1979

BREB

BREB Board

[

TM3-15B

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020

b3 N @Y ST SeifTe BraR TR 3990

%{'Mma ;
(Kamrt ot RREB.

Asst. Secy. (Board- P




ITEM § NO.

u 1?! H de YL 19 [suy. it dd V.l Jush s M8 4 ueynsL su TuE ddV |GRYISUO, MATERIAL
filtig s, o 5 3Gy gl IMEHISLUL d ] ddV.L ¢ 1 achine, 5/8" . -
. H[ qv'piv) Ji.. nhat 8y [npq /, p]‘g\ {bny |SLLEZQA “PIN) (g JQYZOW ‘TiN) Bolt, Machine, 5/8"x required length
6‘3 0 o : ‘U\fﬂ\A - f 2 Bolt, Machine, 3/4"x required length
By w’ " ' |
ﬁ&\‘:g | ' ; ! /¢ ek ¢ 4} Bolt, Machine, 1/2"x 6"
: i H | #
| ——- : i~/ d | 14 |Washer, Square, 2-1/4" x 2-1/4"
i o Washer, Round, 1-3/8" Diameter
f SOURCE L K _
-E* — N PR £ 2 Crossarm, 3-3/4"x4-3/4"x10"-0"
1 _.
I | k |18 {Insulator, Suspension, 10" Diameter:
- L = — i 6 Clamp, Deadend
n 3 Bolt D/A, 5/8"x as required length
1] 1 Bolt, cye, 5/8"x as required length
L)
==L p - Connectors, as required
! SNORMALLY aa s Nut, eve, 5/8"
OPEN ae 6 Surge, Arrester
aq . Jumpers, Stranded, as required
& be § 1 | Automatic Circuit Recloser
3
Fary o)
= (=2 ' 2 7, "
l : ¢ (3/4") % S u Btace, Steel / Wood, 60" Span
d, ek '?&% ek Locknuts
5 o
N4 %g ap | 6 | Connectors, Hot line tap assembly
0y
= 'qu & |, Hanger, Recloser, Pole Mounting
1 )
2 3 Switch, Recloser By-Pass (H 19.6)
/ o

1. A driven around rod is required for this
installation. Snecifv senaratelv as TM2-1

2. The Recloser shall have two connections to sround.

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:

33 KV THREE PHASE SECTIONALIZING OIL CIRCUIT RECLOSER WITH NO SHIELD WIRE

Date of Origin Reviewed by Approved by

Revision No. Unit Designation

July 1979 BRI BRIDB Board

6

TM3-30

Revision Date: July 1980, June 1981, August 1989, (_ 'y 1995, August 2013, February 2020

C




memj M|  DESCRIPTION
b SHELE Wt —_———— _; — — —— g |2 ltl'!s!'uk:lo:n'. pin type, Il KV
~3eT (1§ TO GROUND WIRE p— L b |2 [Pin, pole top, 20"
1 ¢ |3 |[Bolt, mochine,5/8"xreq'd length
= J‘ - ¢ p2 [Boﬂ.mochine. 3/4" xreq’ d length
9" & - c,ex c |4 IBolt, machina, I/2"°x 6"
2 s E ’ d d |14 |Wosher, square,2-1/4"
1 Lomo _'{E"h H SOURCE | d |4 |Washer,round, 1-3/8" diometer
1—\‘1\@{-\ '. BT Dcﬁ)ﬁ%i {_II g |2 |Crossorm,3-3/4" x4-3/4%10-0"
L _’_ W ent Tama o k |18 [lInsulotor, suspension, 10" dia.
: : : = i 16 |[Clomp, decdend
; x\j ~ ~.." ' i = n |3 |Bolt, double orming,5/8"% req'dlentu
5 ~X5 ™ sb t = é\\ o |t (Bolt, eye,5/8" zreq d length
& i I ! :
| EI .: 1' NO\RMALLY p | — |[Connecters, os requirad
I 4344 ddVl Qg ‘ ¢ OPEN ca |5 [Nut, eye, 5/8"
:] (Rpodeiyeyn ysisegaq) i l oe |6 |Surge orrester
' l ""\._ '. : z
|] aq r : | c(3/4") cq| — |Jumpers, stondord, os required
I ] I /g, ek be |1 |Automatic circuit recloser
: /
b — ce |2 [Broce, Steel/ Wood. 60" spon
1
: i Uy dd v um : ' Steel/ Wood, ek | — |locknuts
1Y o . {lifiates 0
s Bt T\ ] B3 O ey
W _ﬁzﬂ :1-_ o f& | 1 _IMonger, recioser, pols mounting
T f| ; ;
Ij I iil \\ . : | sb | 3 |Switch,recioser by-pass (HI19.5}
IING ddvrl ‘n L_I: A4 ddv.L uRiusuo, = : Mo
BN 130t s HISUO o (SRWYVY MQIZO} PIX) i I. & driven ground rod s required for this instollotion.
IBUitiiezop ‘pyy) I} ey : Specify separately as TM2-i
AING: L IUBINSUO:! 2. lhe recloser snail hova two connections to ground
(Wess/igpuna ow
__--/
BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Description: 33 KV AUTOMATIC CIRCUIT RECLOSER POLE MOUNTED WITH BY-PASS SWITCHES AND SHIELD WIRE
Date of Origm Reviewed by Approved by Revision No. Unit Designation
July 1979 BREB BRIEDB Board 6 TM3-30A
( C
Revision Date: July 1980, June 1981, August 198\7, July 1995, August 2013, February 2020

» SOl Sqeiie Fer R $4900

)

b3S G Gl

Ahsan Mnllik)

TR

¥
R

(Kamrul

Asst. Secy.

(Boerd), | 3k



i . /
| .
| oA 1 SOURCE
b 2
| L L
et - [ —
) oo
I ] | NORMALLY OPEN
K
I
F3 ;; § e (3/4)
2m d, ek
_E & - l}’_/
.;{: L s | !
- = f; ':':}: ] |
@ - Iy
ui] = 3 Y
I 5 N
e P |
-
| l I B8 28 . ! ) | Y
1 ' B &8 I £
~ Lot c| & Tac | ! f}j
. . [ENE U W
i wl
8% <5 éE &
e ] 13
L= 3 =]
Note :- = £ Eg =
1. A driven ground rod is required for this instalation. Specify separately as TM2-1 =K = {3’
2. The recloser shall have two connections to ground,
ITEM [MAT. CODE | Qty. MATERIAL ITEM|MAT. CODE |Qty. MATERIAL
c B 6778 5 Bolt, m/c, 5/8" x req'd. length P 15/16 - Connectors, as required
c B 13/14/15/16/17 2 Bolt, m/c, %" x req'd. length aa B 53 05 |Nut, cye, 5/8°p
d B 46 3 Washer, square, 3-1/4" aq D4 - Jumpers, as required
g X7 2 Crossanm, stecl, channel4"x 2" x 2" x %" x B0'|| _cu | B42/B42.1/B45_| 02 |Brace, Steel/ Wood. 60" Span
0 B 18/19/20 1 Bolt, eye, 5/8"9 ek B 50 20 | Locknuts, as required
k cll 18 Insulator, suspension, 10" diameter ap 124/46 06 __|Connectors, hot line top assembly
1 §1/132 6 Clamp, deadend fk - 01 _ |Hanger, recloser, pole mounting
n B 262728 3 Bolt, double arming, 5/8" x req'd, length ac H2 06 | Surge, arrester
sb H19.6 3 Switch. recloser by-pass (H 19.6) be - 01 |Automatic circuit recloser

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 33 KV THREE PHASE SECTIONALIZING OIL CIRCUIT RECLOSER WITHOUT SHIELD WIRE

Date of Origin

Reviewed by

Approved by

Revision No.

Unit Designation

July 1979

BREB

BRED Board

6

TM3-30B

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020

e i ———

LY T Y FET e BrEk W vaae0




)

5

__"F'-
?Tf'

ety
=5
g
=
b )
28
s}
p 5“::.
N g g=
CONNECT m—— ra IR S A S— t'%.
" SHIELD WIRE . ? ]
21 TO GROUND WIRE Gy ek~ E i
i <2
@
] =4
. ' - -0
-O " " [0 c,e
0 & I 4 9" 6 }
7o) “—""-‘, 5|| . 1 | L L "
i i LOAD : SOURCE
= | | . | - L
SN E l S X
_.L.. : ] S 3 SN T e
. | T N\ UE F
i I - 1 I =2l ’ l N+
(& 1 i O, Lt =g
\\ : o sb T T o3
: : 1 = C
: : op 'l : i \ =R
9 } i NORMALLY
b 1 OPEN
i H i
; E \\\ &q li 1
i Pl c(3/4")
| l l i i d, ek
g /..1: b & 4 : }
1 |
1]
i
]
gty =
.\ P! ) £
y ' . BE S
= S ' f i 82 o
] be t 2 Ig (=9 i
: PR | 2g p 2
L—JJ \PX‘S@ 5. 1&‘ Bf
1 ~at 3 -
G ; (o™ Nt
i £ \ Se p—f =
[ pss- o6
I L= af-
1. A driven ground rod is required for this instalation. Specify separately as TM2-1
2. The recloser shall have two connections to ground.
ITEM [MAT. CODE | Qty. MATERIAL ITEM|MAT. CODE |Qty. MATERIAL
¢ B 678 3 Bolt, m/c, 5/8" x req'd. length P 15716 - Connectors, as required
[ B 13/14/15/16/17] 2 Bolt, m/e, %" x req'd. length an B 53 05 | Nut, eye, 5/8°®
d B 46 3 Washer, square, 2-1/4" aq D4 |- Jumpers, as required
g X-7 2 Crossarm, steel, channel 4" x 2" X 2° X % % 87| cu B42/B42.1/B45 | 02 |Brace, Steel/ Wood. 60" Span
0 B 18/19/20 1 Bolt, eye, 5/8"p ek B 50 20 | Locknuts, as required
k Cll 18 Insulalor suspension, 10" diameter ap 1 24/46 06 | Connectors, hot line top assembly
1 81/132 6 Clamp, deadend fk P 01 | Hanger, recloser, pole mounting
f B 26/27/28 3 Bolt, double arming, 5/8" x req'd, length ae H2 06 _|Surge, arrester
sb H 19,6 3 Switch. recloser by-pass (H 19.6) be - 01 | Automatic circuit recloser

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 33 KV THREE PHASE SECTIONALIZING OIL CIRCUIT RECLOSER WITH SHIELD WIRE

IDate of Origin

Reviewed by

Approved by

Revision No.

Unit Designation

July

1979

BREB

BREB Board

(4]

TM3-30C

Revision Date:

July 1980, June 1981,

August 1989, July 1995, August 2013, February 2020

SR TR Y e S B R 33900




- I o i TEM| NQ ~ DESCRIPTION
CNNECT e - 2 |lnsulator, pin type, Il KV
SHIELD WIRE b |2 [Pin, pole top, 20"
TO GROUND WIRE 3 [Bolt, mochine,5/8"xreq'd tength
¢ |2 |[Bolt,machine, 3/4" xreq' dlengtt.
X ¢ |4 |[Bolt, machine, I/2"x 6"
.“') d {14 |washer, square,2-1/4"
d |4 |Washer,round, i-3/3" diometer
g {2 |[Crossorm,3-3/4"x4-34%10'-0" 3
: = k I8 [Insulator, suspension, 10" dio. 1
- et
1 “—_rf 5 s t |6 [Clomp, decdend
= g E n |3 [Bolt, doutte orming,5/8" req'd leng
] : 5 " L} . b
’ ‘. ‘% ! "lo i [Bolt, eye,5/8" 1req d length \
; ‘ '} | e | — [Connecters, os required p.
o i "
;L! ; ;[ NOS:IE?}LLY E co |5 |Nut, eye, 5/8 F
} IE 3 ge | 6 |[Surge arrester _ 1
: ; = L B LIR1SD ) Gq | = |Jumpers, standord, 0s required
| _7;\  a, ek % ;‘ﬁ be ! Autojnuhc c:\rcuxt recloser
; j{* EE& = ce {2 [Broce, crossarm, wood, 60 span
£ g I;ﬁfgsi;;p;%@ (T AVIISTISIO) i § cp | & |Connector, hot line tap ossembly
A S ke (onbey frigusty P : 2 | # |t _[Monger, recloser, polz mounting
PV o, Loh e ]
- } i r NOTE! sb | 3 |Switch,recioser by-paoss {419.6)
: s fi L
L_{;I ~ !:F I. & driven ground rod is required for this instoliation.
=l § 4 T R RN ot ' %
?:i‘i, d ! Sinsyo~  HA¥E ddVL iwmimsuog ] Specify separately as TM2-{ .
II. P Swlg._, .ueu.w_ym ‘ 2.The recloser shgll hava two connactions to ground

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:

33KV AUTOMATIC CIRCUIT RECLOSER POLE MOUNTED WITH BY-PASS SWITCHES aNd  sHIELD wiRe

Date of Origin Reviewed by Approved by Revision No.

Unit Designation

1979 BREB BREB Board 6

( 4

July

TM3-30A

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




TM5-1
.
=
-ﬂrﬂmi'r ot s
Sa i
Sh —m 'é'% EE?
== 1
o é
e e i %
':Ca‘\'”/",/ aq
'i_f(:*-:/" p \
i \ \
. TR i mmmﬁﬁcf ¢
ITEM MATERIAL TMS5-| ™5 =2 M5~ 4 TM5-5 TM5-6
o |lInsulater, pin type, 33KV o
al tnsuluiar, pin type, 11 KV l
b__|Pin, pole top, 20" !
¢ |Bolt, machine, 5/8"x req'd length 2
d | Wosher , squore, 2!4" 2
f _|Pin, crossarm, steel, 3/4" x 17" ]
| p |Connector ' I g
i o8 |Surge orrester |
} op |Clamp, hot line |
6q | Jumper | 2 :
e -
8k |Locknut 2 ’
sb | Switch disconnect ( HI9.6) | o 1

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 33 KV MISCELLANEOUS ASSEMBLIES

Date of Onigin Reviewed by

Approved by

Revision No.

Unit Designation

July 1979 BREB

BREB Board

6

TMS-1 TO TMS-6

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




July 1979 BREB

cr
Ci \\ & == \\f ] I X
[y
=t S N o
12 | ‘ c1—d—ek
i Cu
P ef
£
-~ _...._LE_!‘:LGI_H“.__,_i Vet e 38 TM5-13
" 12 9
, o] P
Bl !'.’r]’ A ~d-gk //
TM5-10 r & /
a5
u.m L l— oﬂ L"hJ 4|‘-.Oll
g% R i e oMM e
gt e TM5-14
g 0 ==
k@i‘f <=
sa 2B
S X =8 ; gt : g
= o . i i )
™ ‘ Lr‘“l ) il i l & 5,
] X J..... el e e e e ] = (=} Fey)
é’ﬂv
2 43
i P
=g &
v BB g é &‘sﬁo)
[ &
'wd_f_[:: V? 02
f:;f -
:E i f'/
S i
51_.01| i 5!_ 0“ i
MY = oot s b s e s e, 411 o o e i 881 5 e 407 i e e S e ___._-..-.-q-—"'_"_‘—' =
| TMS - 16 33 B Q@Y TET WS e TR 330p
ITEM MATERIAL TMS=10 |TM5~13 [TM5-14 TMS-15 TM5-16
¢ Bolt, Machine, 5/8"x req'd Length | I 1 1
- ¢ Bolt, Machine, 1/2"x 6" 2 e
d Washer, round, 1-3/8 diameter 2 I
d Washer, Square, , 2-1/4" 2 I 2 - 2
gt Crossarm, 3-1/2"x 4-1/2"x 8'-0" |
g2 Crossarm, 3-3/4 x 4-3/4 x 10'-0" |
cr Bracket, Angle, 5/8" ( Item # B98) |
cu Brace, Wood, 60" Span I
af Bolt, Clavis, 5/8" x req'd Length oo B
ek Locknuts | 3 | T |
i BANGLADESH RURAL ELECTRIFICATIUN BUARD
Unit Description: 33 KV MISCELLANEOUS ASSEMBLIES
Date of Origin Reviewed by Approved by Revision No. Umnit Designation
BREB Board 6 TM5-10 TO TM5-16

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020



R

CLEVIS e wt
EYE J}ﬂ? 2
TO BE SUPPLIED E—%
WITH ITEM B-133 S5
- %5 o
33 Ef
N AL 8 =S
e W
for 477 mem ACSR 8=

e
ER

ok

R

Consultant TAPR

{(Md_A

.

[ |

ant TAPP BRER

M OZ16U

Md
~menlt;

TMS5-25 5

ITEM MATERIAL

TM5-22 [TM5-231TM5-24 | TMS -2&¢

d Wosher , squore, 20/4

|_#~_| Insulotor, suspension, 10" diumeter

i Clomp , dgadend, 4/0, 1/0, N23 (B-Bl or B-132)

l2 Clamp, deodend, 477mcm (B-133)

m Clamp, Suspension

0 Bolt, eye, 5/8" x rea'd length

ac | Nul, eye, 5/8"

bg Shackle , anchor

gk Locknuts

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 33 KV MISCELLANEOUS ASSEMBLIES

Date of Origin Reviewed by Approved by

Revision No.

Unit Designation

July 1979 BREB BRIB Board

6

TMS-20 TO TMS-25

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




MS5-26
365
ll&b’-’a.r Zii- 76 ifai ’-I
: |
H-4-102
b

|-

Ve " 3" i lzjl : :
12" L

MS5-28

Hole dia 3/4"
-)— -1 -

e

305

[ETS, 76 76 1533 )
L4578 ! b

102
K

A A]

Detail - A : Galvanized Steel Clamp

PBREB

M5-29
6] =8
0 =}
_am S “EE
W e é.g
> » < ERE:
Detail - A @,c&?é LI E
Galvanized Clamp Set, dia 8" or 10" w0 sz 38§
= f(_- g
TMS5-30
ASSEMBLY UNIT
ITEM | MAT. CODE MATERIAL TM5-26 TMS5-27 TM5-28 TM5-29 | TM5-30
k cll Insulator, Suspension, 10" diameter a . 3 p . .
d B46/118 Washer, square, 2'4" = = - = 5
| Cs Clamp, deadend, 4/0, 170, Now3 . : : :
m B 82-84/134/135 | Clamp, suspension - E : 2
ek B 50 Locknuts, 5/8"¢ 01 - a .
aa B 53 Nut, eye, 578" x required length 01 - P 2
bo B 55 Anchor, shackle 01 - & 3
0 B 18/19/20 Bolt, eye, 5/8" x required length (] - - .
= - 4-way pole band with nut bolt & locknuts complete 01 . - - -
- Plate, arming 14" or 12" x 4" x 4" 01 01 01 01
BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:

33 KV MISCELLANEOUS ASSEMBLIES

Date of Origin Reviewed by

Approved by

Revision No.

Unit Designation

July 1979 BREB

BREB Board

6

TMS5-26 To TM5-30

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




Direction of

learning

Tamp Back Fill
Well

| ]

W=\ =\

e

+:Tamp
I. qu.gb Fi I I

W=y

N

AN

=

W=\

115%)
(Kﬁén?\‘ﬁunf\ﬂ“ BRER
MS" Secy-

N

i

fl
|’| =il
z 1z
E i f,,!f

e 1
1 1l
! 5/
Z Vo
e

SECTION A-A

1

Z
]
= —
e
1 3
~ m
= =
i g8
& E L
| <3
-3
z =8
i 8
Z
‘\~|If
F
” \LJJ o
rom ot W
) =
Al 28
Yo X
= M 235
z =2
I g7
? 8:

==

il
” 8
W <

e ——

@@( = ~f
| > @‘é K‘\E‘? / gg.“ g& ‘ g%
~ e : g5 £ g
- =1 5 5
| 55 &< B
=K B = £
ITEM MATERIAL TMI18 TMI18-1
n | Bolt, Double Arming, 5/8'" x req'd Length | S
ek |Locknuts . 2
d | Washer, Square, 2-1/4" > 2
Z | Anchor log, 3'-6" x 8" Diameter 2 _I

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 33 KV POLE STABILIZDER LOG

Date of Origin

Reviewed by

Approved by

Revision No,

Unit Designation

July 1979

BREDB

DBRELD Board

6

TMI18 & TM18-1

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020

A TG




BOLT SIZE

5/8"

]J’( "

3/4"

¥

TYPE~TO4

Ll

o
&

n
Al

r ]

i

T_ 6"
— I—— i | W
*‘1 lh_ . ~2-6"— - 2-6 "4
3% e — et~ 7" e 7"
10'-0" =4
TYPE~TO5
am@ -
e R 39
~ 3y 9 @O e ST Iz
NOTES: =3t UGE
I. For conversion of distribution type crossarms(Type 04 ond Type 05) H:r
re~drill necessary (D) holes from 11/16" diometer 1013/16" diameter. EJ !
&=
T
==
BANGLADESH RURAL ELECTRIFICATION BOARD E{
Unit Description: 33 KV CROSSARM DRILLING GUIDE et
Date of Origin Reviewed by Approved by Revision No. Unit Designation |
BREB BREB Board 6 TM19 {

July 1979

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020

cmanskonm



= :w H_é :q. -
m = e Pl -
-m'—||"*“" .d-d; ] Yo
s
:m T 5‘0
SO L$
©
]
™
| K All holes shown are existing except those at A and B.
1| .]_ Holes A and B are for shielded pole top horizontal construction units.
»
“ i ‘@ .
A. Dril 11/16" hole and gain for crossarm through bolt.
P e B. Drill 11/16" hole for crossarm brace
K
NOTE:
8 0l
New bolt holes must be parallel to and in the same plane as existing
holes and new gain must be of 90" to them
qa P
e @ i@ "R >
s G GIE TEH T
b 1
2
5.
| =9
Sk
| G &
C o
i -E)‘ B.
~
22 '
Ly &
1 &
=R
= £
=8 &
Sk &
8 &5
v

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 33 KV DRILLING GUIDE FOR CONVERTING DISTRIBUTION POLES 30 FOOT

AND LONGER TO TRANSMISSION POLES
Date of Origin Reviewed by Approved by Revision No. Unit Designation
Tuly 1979 BRED BREB Board 6 TM?20
Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




INITIAL SAG TABLE
No. 3 ACSR "SWALLOW"
(300ft. Ruling Span)

Asst. Secy. (Board), BRER,

NOTE : THIS TABLE IS FOR DESIGN PURPOSE ONLY

Temp |[TENSION SAG INCHES for SPANS IN FEET

OF linpounds| 150 | 200] 210] 220 230] 240 250] 260[ 270] 280] 290 300] 310] 320] 330| 340] 350] 360] 370| 380 390] 400
120 358 69| 12.2| 13.4| 14.7| 16.1| 17.5| 19.0| 206| 222 23.9| 256| 27.4| 20.3| 31.2| 33.2| 35.2| 37.3| 39.5| 41.7| 44.0 46.3| 48.7
115| 374 66| 11.6| 12,8 14.1| 154| 16.8| 18.2| 19.7| 21.2| 22.8| 24.5| 26.2| 28.0| 29.8| 31.7| 33.7 35.7| 37.7| 39.9| 42.0| 44.3| 46.6
110]  391| 63| 11.1| 12.3] 13.4| 14.7| 16.0| 17.4| 188 20.3| 21.8| 23.4| 25.0| 26.7| 28.4| 30.3| 32.1| 34.0( 36.0| 38.0| 40.1| 42.3| 44.4
105|  408| 6.0 10.6| 11.7| 12.¢| 14.0| 15.3| 16.6| 18.0| 19.4| 20.8| 22.3| 23.9| 255| 27.2| 28.9| 30.7| 32.5( 34.4| 36.4| 38.3| 40.4| 42.5
100|  426| 57| 102| 11.2| 12.3| 135| 14.7| 159| 17.2| 18.5| 19.9] 21.4| 22.9| 245| 26.1| 27.7| 29.4| 31.2| 33.0| 34.8| 36.7| 38.7| 40.7
95| 444 55| 98| 10.8| 11.¢| 130| 14.1| 15.3| 166 178 19.3| 20.7| 22.1| 236| 25.1| 26.7| 284/ 30.1| 31.8| 336 355| 37.3| 39.3
90| 462 53| 94| 103| 11.3| 12.4| 13.5| 14.7| 15.8| 17.1| 18.4| 19.7| 21.1| 22.5| 24.0| 255 27.1| 28.7| 30.4| 32.1| 339 35.7| 37.5
85| 480 51| 9.1 100| 11.0| 12.0] 131 142| 153| 165 17.8| 19.1| 20.4| 21.8| 232| 247| 26.2| 27.8| 29.4| 31.0| 32.7| 34.5| 36.3
80| 498 49| 88| 97| 106| 16| 126| 13.7| 14.8| 16.0| 17.2| 18.4| 19.7| 21.0| 22.4| 23.8| 25.3| 26.8| 28.4| 30.0| 31.6| 33.3| 35.0
75| 516| 4.8 84| 93| 10.2| 11.2| 12.2| 132| 14.3| 15.4| 166| 17.8| 19.0| 20.3| 21.6| 23.0| 24.4| 25.9| 27.4| 28.9| 30.5| 32.1| 33.8
70|  534| 46| 81| 89| 98| 107 11.6| 12.6| 13.7| 147 159| 17.0| 18.2| 19.4| 20.7| 22.0| 23.4| 24.8| 26.2| 27.7| 29.2| 30.8| 32.4
65|  553| 4.4| 7.8 88| 95| 10.3| 11.3] 12.2| 13.2| 14.3| 153 16.4| 17.6| 18.8| 20.0| 21.3| 22.6| 24.0| 25.3| 26.8| 28.2| 29.7| 31.3
60|  571| 43| 78| 84| 92| 10.1| 11.0] 11.9] 12.9] 13.9| 150 16.1| 17.2| 18.4| 196| 20.8| 22.1| 23.4| 24.8| 26.2| 276 29.1| 306
55|  sso| 42| 7.4| 81| 8g| 98| 108| 1.5 12.5] 13.4| 145| 155 16.6| 17.7] 18.9| 20.1| 21.3| 22.6| 23.9| 25.3| 266 28.1| 29.5
s0] 607l 40| 72| 79| 87| 95| 103] 112 121] 13.0] 14.0] 15.0] 16.1] 17.2] 18.3| 19.5] 207| 21.9] 23.2| 24.5| 25.8| 27.2| 286

(KammIAKmmﬁh oy WW“ >490%  INITIAL No. 3 ACSR

BANGILADESH RURAL ElILEFEFCTRIFICATION BOARD

Unit Description: 33 KV NO. 2 ACSR (6/1) "SWALLOW" INITIAL SAG TABLE

Date of Origin

Reviewed by

Approved by

Revision INo.

Unit Designation

July 1979 BRI 3R I3 Board 6 TS-3-1
Revision 1Date: July 1980, June 1981, August 1989, July 1995, August 2013, : ;2020 \
e AV SRITIRQUE, > N e RN
LhAATT, DREH T i
U Md. MzammelHud), o W) Debase}
: TAP ' (Md aloque)

(Md. Mozibur Rahman) i

"M ORPER

i s

\PP!BRE!

‘nnsnltant TAPP RBER

: ‘n(}-\ﬁ'.@’“mf Haque)

*TADD noern

1AM, S A
B Tar .'_"1‘1_krdd0ﬁt'yr.}
IAFR RRER




Initial Sag of 1/0 ACSR(6/1)

300 Feet Ruling Span

Temperature | Tension | Sagin Inches for Span in Feet o
°F Pounds | 200 | 210 | 220 | 230 | 240 | 250 | 260 | 270 | 280 | 290 | 300 | 310 | 320 | 330 | 340 | 350 | 360 | 370 | 380 | 390 | 400
120 728 120 [ 13.2 | 145|159 | 17.3 | 188 | 20.3 | 219 | 235 | 25.2 | 27.0 | 28.8 | 30.7 | 32.7 | 34.7 | 36.8 | 38.9 | 41.1 | 433 | 456 | 48.0
115 758 115 | 127 | 139 | 152 | 166 | 180 | 195 | 21.0 | 22.6 | 24.2 | 259 | 27.7 | 295|313 [ 333 | 353 | 373 | 394 | 416 | 435 | 46.0
110 788 111 | 12.2 | 134 | 147 | 16.0 | 174 | 188 | 20.2 | 21.8 | 23.4 | 25.0 | 26.7 | 284 | 30.2 | 32.1 | 34.0 | 36.0 | 380 | 40.1 | 422 | 440
105 818 10.7 | 118 | 129 | 141 | 154 | 16.7 | 180 | 194 | 209 | 22.4 | 24.0 | 256 | 273 | 29.0 | 30.8 | 32.7 | 346 | 365 | 385 | 406 | 427
100 849 103 | 114 | 125|136 | 148 | 16.1 | 174 | 188 | 202 | 21.7 | 23.2 | 248 | 264 | 28.1 | 29.8 | 316 | 334 | 353 | 37.2 | 39.2 | 412
g5 880 99 | 109 | 120 | 131|143 | 155|167 | 181 | 194 | 208 | 223 | 238 | 254 [ 27.0 | 286 | 30.4 | 32.1 | 33.9 | 358 | 37.7 | 39.6
90 911 9.6 | 106 | 116 | 127 | 13.8 | 150 [ 162 [ 175 | 188 | 20.2 | 216 | 23.1 | 246 | 26.1 | 27.7 | 294 | 31.1 | 329 | 347 | 365 | 384
85 941 93 | 102 |11.2 | 123 | 134 | 145|157 | 169 | 182 | 195|209 | 223 | 23.8 [ 253 | 268 | 284 | 30.1 | 21.8 [ 335 | 353 | 37.2
80 972 90 | 99 |109 | 119 | 129 | 140|152 | 164 | 176 | 189 | 20.2 | 216 | 23.0 | 244 | 259 | 275 | 29.1 | 30.7 [ 324 | 341 | 355
75 - 1003 87 | 96 | 105|115 | 125|136 | 147 | 159 | 171 | 183 | 196 | 209 | 223 | 23.7 | 25.2 | 26.7 | 28.2 | 29.8 | 314 | 331 | 348
70 1034 84 | 93 | 102|112 | 122|132 | 143|154 | 166 | 17.8 | 19.0 [ 203 | 216 | 23.0 | 24.4 | 259 | 27.4 | 289 | 305 | 321 | 338
65 1065 82 | 91 | 99 |109 | 118|128 | 139 | 150 | 161'| 173 | 185 | 198 | 210 | 224 | 23.8. | 252 | 266 | 2841 | 29.7 | 313 | 328
60 1095 80 | 88 | 96 | 105 | 115|124 | 134 | 145 [ 156 | 167 | 179 | 191 [ 204 | 21.7 | 230 | 244 | 258 | 27.2 | 287 | 303 | 31.8
- 1125 77 |85 | 94 (102 | 111|121 | 131 (141|152 | 163 | 174 | 186 | 198 | 211 | 223 | 237|251 | 265|279 | 294 | 309
50 1155 7:5 83 | 91 |99 |108|117|127]137 147|158 169|180 [192|204|217|23.0|243 | 257|271 ; 286 | 30.0

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: INITIAL SAG 1/0 ACSR

Date of Origin

Reviewed by

Approved by

Revision No.

Unit Designation

July 1979

BREB

BREB

6

S-1/0-1

Revision Date: July 1981, August 1989, July 1995, August 2013, February 2020

oxmhmm

“onsltant TAPP BRER

SF—

(Md. Ahsanul Hagque)
nnsultant TAPP ARER

(Debasish Chakrabortty

PD TAPP RRFER

O 0¥ €Y TR 42 3400

I

(Md. Abdul Khal

“onenltant TAPP

Arr




INITIAL SAG TABLE
4/0 ACSR "PENGUIN"
(300ft. Ruling Span)

Temp| TENSION SAG INCHES for SPANS IN FEET
°F_lin pounds| 150 | 200] 210] 220] 230] 240] 250] 260] 270] 280] 290] 300] 310] 320] 330] 340 350] 360| 370| 380| 390| 400
120)  1.359) 7.2/ 128|14.2|155| 17.0| 185(201|21.7| 23.4| 25.2| 27.0| 28.9 | 30.9 | 32.6| 35.0| 37.1| 39.3| 41.6| 44.0| 46.4| 488| 51.4
115 1416 6.9|123|136|14.9| 16.3| 17.719.2| 20.8| 22.4| 24.1| 25.9| 27.7 | 29.6 | 31.5| 33.5| 35.6| 37.7| 30.9| 42.1 | 44.4| 46.8| 49.2
10| 1475 6.7|11.8|13.0|14.3| 15.6| 17.0 | 18.5/20.0|21.5|232| 249|266 [ 28.4 | 30.3 | 32.2| 34.2| 36.2| 38.3| 405| 42.7| 45.0| 47.3
105/ 1.534] 64| 11.4|125|13.8| 15.0| 16.4 | 17.8| 19.2| 20.7| 22.3| 23.9| 256 [ 27.3|29.1 | 31.0 | 32.9| 34.8| 36.9| 38.9| 41.1| 43.3| 455
100  1.595] 6.21 109|121 |13.2| 14.5| 157 [ 17.1 | 18.5| 19.9| 21.4 [ 23.0| 246 | 26.3 | 28.0| 290.8 | 31.6| 335| 354 | 374 | 39.5| 416/ 437
95 1.656| 6.0| 10.6| 11.7 | 12.8| 14.0| 15.2 | 16.5| 17.9| 19.3| 20.7 | 22.2| 23.8 [ 254 | 27.1 | 28.8 | 30.6| 32.4| 34.3 | 36.2| 382 | 402] 423
80{ 1717 5.7|10.2|11.2(12.3| 13.5| 14.7 [15.9|17.2| 18.5| 19.9 | 21.4 | 22.9 | 24.5 | 26.1 | 27.7 | 290.4| 31.2| 33.0| 34.8 | 36.7| 38.7| 40.7
85 1.779| 55| 9.8|10.8|11.8| 12.9| 141 153|16.5| 17.8|19.2| 20.6 | 22.0 | 23.5 | 25.0 | 26.6 | 28.3| 29.9| 31.7| 33.5| 353 | 37.2| 29.1
80| 1.841| 54| 95|105|11.5| 12.6| 13.7 |14.9[16.1 [17.3| 18,6 | 20.0 | 21.4 |22.0 |243 | 259 |27.5| 29.1| 30.8 | 326 | 34.3| 36.2| 38.0
750 1.903] 52| 82101 |11.1| 12.1| 132|143 (155 |16.7|17.9( 192|206 [22.0 |234 |249|265| 28.0| 297|313 | 331|348/ 366
70f 1.965| 50| 89| 9.8(108| 11.8| 12.8 [13.9 150 |16.2|17.4 | 18.7 [ 200 |21.4 [22.8 (242|257 272| 28.8 | 30.4 | 32.1 | 33.8 | 356
65| 2.026| 49| 86| 95104 11.4| 124 | 135|146 (157|169 | 181|194 |20.7 |221 | 235 |24.9| 26.4| 276|205 | 311|328 345
60| 2.087] 47| 84| 92 (101 11.1|12.0 [13.1|14.1 (152 (164|176 |18.8 |20.1 [21.4 227|241 | 256|27.1 | 286 | 30.2| 31.8 | 33.4
55| 2.149) 46| 81| 89| 98| 10.7( 11.6 |12.6 | 137|147 [159|17.0|18.2 |19.4 [20.7 | 220|234 | 248|262 277 | 202|308 | 324
50| 2.209] 44| 79| 87| 95| 104 11.3 /123 [13.3[14.3|154 (165|177 [18.9 (201|214 |227| 241|255 |26.0|28.4 | 209315
INITIAL 4/0 ACSR
U35 ON (% e mﬂt 9900 NOTE : THIS TABLE IS FOR DESIGN PURPOSE ONLY
BANGLADESII RURAL ELECTRIFICATION BOARD
Unit Description: 33 KV 4/0 ACSR (6/1) "PENGUIN" INITIAL SAG TABLE
Date of Origin Reviewed by Approved by Revision No. Unit Designation
July 1979 1312113 13121213 13oard 6 TS_4/0_|
Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020
UV / S P

VG MOZID R { AR




INITIAL SAG TABLE
477 MCM (26/7) "HAWK"
(300ft. Ruling Span)

|

—

T —
———

Temp| TENSION SAG INCHES for SPANS IN FEET
°F_lin pounds| 150 | 200 210 220| 230] 240] 250] 260[ 270] 280] 290] 300] 310] 320] 330] 340] 350] 380] 370] 380 390| 400

120 1732] 12.8| 22.8| 251 27.5| 30.1 | 32.8| 35.6| 38.5| 41.5| 446| 47.8| 51.2| 54.7| 58.3|62.0 65.8|69.7|73.7 (779 |82.1| 86.5| 91.0
115 1792 12.4| 22.0| 24.2| 26.6| 29.0 | 31.6| 34.3| 37.1| 40.0| 43.0| 46.2| 49.4 | 52.7| 56.2 | 59.8 | 63.5 67.2|71.1 [751|79.3| 83.5| 87.8
110 1857) 12.0) 21.2| 23.4 | 25.7| 28.1 | 30.6| 33.2| 35.9| 38.7| 41.6| 44.7| 47.8| 51.0| 54.4 | 57.8 | 61.4 | 65.1 68.8 |72.7 | 76.7| 80.8 | 85.0
105 1926) 11.5| 20.4| 22.5/124.7| 27.0 | 29.4| 31.9| 34.6| 37.3| 40.1| 43.0| 46.0| 49.1| 523|557 | 59.1 | 626 66.2 [70.0 | 73.8| 77.7 | 81.8
100 2001 11.1] 19.7 | 21.7 | 23.8| 26.0 | 28.4| 30.8| 33.3| 359|386 41.4| 443 |47.3| 504 |536| 569|603 63.8 (674 |71.1| 749|788
95 2081| 10.7| 18.9| 20.8 | 22.8| 25.0 | 27.3| 29.6| 32.0| 34.5|37.1| 39.8| 426 | 455| 485 |51.5|54.7| 58.0 | 61.3 64.8 |68.3| 72.0| 75.7
a0 2166| 10.2| 18.2| 20.0| 22.0| 24.0 | 26.2| 28.4| 30.7 | 331|356 38.2| 40.9 | 43.7| 465 495|525 | 55.7 58.9 |62.2 1656 69.1| 727
85 2257) 9.8{ 1741192211230 25.1| 27.2| 204 31.8|34.1| 366|392 | 419| 446 474|504 | 53.4 56.4 |50.6 629|662 |697
80 2354] 9.4168|185|203)|222|24.1| 26.2| 28.3| 30.5|32.8| 35.2|37.7 | 40.3| 429 |456 | 48.4 | 51.3 543 157.3 160.5]63.7 | 67.0
75 2456/ 9.0 16.017.7 (194|212 |23.1| 25.1| 271|292 |31.4| 33.7|36.1 | 385| 41.1 | 43.7 | 46.4 | 49.1 92.0 {549 |157.9|61.064.2
70 2565) 8.7| 154|17.0 | 18.6|20.3 | 22.1| 24.0| 26.0| 28.0 | 30.1| 32.3 | 346 | 36.9| 39.4 | 41.0| 44.4 | 47.1 408 | 526 [55.5| 58.5|61.5
65 2679| 83| 14.716.2(17.8| 19.5|21.2| 23.0| 24.9| 26.8|28.8| 30.9|23.1 | 35.3| 37.7 |40.1 | 42.5 | 45.1 47.7 |50.3 | 53.1| 55.8 | 58.8
60 27991 79| 14.1| 15.5/17.0| 18.6 | 20.3| 22.0| 23.8| 25.7|27.6| 206 | 31.7 | 33.8| 36.1 | 384 | 40.7 | 43.1 | 456 |48.2 | 50.9 536 | 56.4
55 2924| 76| 13.5|14.9116.3|17.9|19.5| 21.1| 228|246 |26.5| 28.4 | 30.4 | 32.5| 346 | 36.8 | 39.0 | 41.4 | 43.8 46.2 1488|514 | 540
50 3053] 7.3 129} 14.21156117.0{18.6] 20.1| 21.8|23.5|253| 27.1 | 29.0 | 31.0| 33.0 [35.1 [ 37.2 | 395 41.8 [44.1 |46.5|49.0|51.6

b3S OF @I T FIE FER 7R 39¢.00 INITIAL 477 mcm ACSR
- NOTE : THIS TABLE IS FOR DESIGN PURPOSE ONLY

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 33 KV 477 mcm (26/7) "HAWK" INITIAL SAG TABLE

Date of Origin Reviewed by Approved by Revision No. Uinit Designation

July 1979 BREB BREB Board 6 TS-477-1

Revision Date: July 1980, June 1981. August 1989, July 1995, August 2013, February 2020

\\J___’ ‘{ M | ( A i . 7 lasish Chalke 4 (V_
Md. Mozibur Ruhman) e ULISAM) ki RN LELIUG) q 1sanul Haque) A TAPE LRRoMtY) Age, iy 4 :
“ameltant TABD BREB o . 2 AISURENL, TARR BRI Consultant, TAPP, BRER Consultant TAPP. BREF \PP RRER My &
(P ‘

m) wiu 7ibaul Khaleque) (Md..



INITIAL SAG CHART
CONDUCTOR : GROSBEAK (636 mcm)

150 FEET RULING SPAN

Rated Strength : 12600 lbs

Temp |TENSION SAG in FEET
ofF linpounds| 130 140] 1s0] 60| 170] ‘ 180]  190] 200
120 10739 226 262 301 342 38 433 482 534
110 11322 214 248 285 324 366 410 457 507
100} 12011 202 234 269 306 346 387 432 478
o0| 12844| 188 219 251 286 323 362 403 447
go| 1387.8] 175 203 233 265 299 335 373 413
70| 15210 159 1.8 212 241 272 305 340 377 S5
60| 17015 142 165 180 216 243 273 304 337 £=
sol 19666] 123 143 164 187 211 236 263 292 B
)\ DRG. NO. : TS 636-I (150 RS) 5%
S
Table-8.2 G
INITIAL SAG CHART Eex
CONDUCTOR ;: GROSBEAK (636 mcm) 22
200 FEET RULING SPAN 2z
Rated Strength : 12600 Ibs St
Temp [TENSION SAGin FEET
°F  linpounds| 150] 160] 170{ 180o] 180 200] 210 220] 230] 240] 250
120 1428] 226 257 290 326 383 402 443 486 532 579 628
110 1505 2.15 244 2.78 3.09 344 3.1 420 4.61 504 549 5.96
100 1596| 202 230 260 291 324 360 396 435 475 518 562
90|  1705| 180 215 243 272 304 336 371 407 445 484 526
801 1841 176 199 225 252 281 312 343 377 412 449 487|| 2
70 2016 160 182 206 231 257 285 314 345 377 410 445
60 2251 143 183 184 207 230 255 281 309 337 367 398
50 2595 1.24 1.41 1.60 1.79 1.99 2.21 2.44 2.67 292 3.18 3.45
DRG. NO. : TS 636+ (200 RS)\
WWWWW@’W{ %900 ‘3

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: INITIAL SAG TABLE OF GROSBEAK CONDUCTOR .

Date of Ongin

Reviewed by

Approved by

Revision No.

Uit Designation

BREDB

BRLED Board

()

TS 636-1

July 1979

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, Feb]‘uawjl}m

(Ramrol Ahsan Mollik)
Asst. Secy. (Board). BREB.




INITIAL SAG CHART
CONDUCTOR : MALLARD (795 mcm)
150 FEET RULING SPAN
Rated Strength : 19200 Ibs
Temp |TENSION[ SAG in FEET B
°oF |in pounds 130 140] 1s0] 10| 170| - 180]  190] 200 g
120] 1441.4 2.20 2.55 2.93 3.33 3.76 422 4.70 5.21 %@
110 ™519.9 2.09 2.42 2.78 3.16 3.57 4.00 4.46 4.94 Sa
100 1612.8 1.97 2.28 2.62 2.98 3.36 3.77 4.20 4.66 ég‘:
90| 1725.1 1.84 2.13 2.45 2.79 3:15 3.53 3.93 4.35 8"
80| 1864.7 1.70 1.97 2.27 2.58 2.91 3.26 3.63 4,03
70| 2044.7 1.55 1.80 2.07 2.35 2.65 2.98 3.31 3.67
60| 2289.4 1.39 1.61 1.85 2.10 2.37 2.66 2.96 328 ag
50] 2649.5] 120 139 159 181 205 230 256 283\ §“§g
TABLE NO. : TS 795 (150 RS) &ES‘
g
7
= o
S
INITIAL SAG CHART oy
[
CONDUCTOR : MALLARD (795 mcm) s
200 FEET RULING SPAN 29
Rated Strength : 19200 Ibs <5
ZE
Temp |TENSION SAGin FEET
°F _lnpounds| 150] 160] 170 18o[ 190 200] 210] 220] 230] 240] 2s0| | | 2
120 1917 220 251 283 317 354 392 432 474 518 584 6512 _
110[ 2021 209 238 268 301 335 372 410 450 491 535 581 8=
100(  2144] 197 224 253 284 316 350 386 424 463 504 547 s
80|  2292| 1.84 210 237 265 256 328 361 396 433 472 512 =&
80| 2476 1.71 194 219 246 274 303 334 387 401 437 474
70 2713] 186 177 200 224 250 277 305 335 366 399 433
60 3034| 139 158 179 201 223 248 273 300 327 356 3.87
l 50] 3803] 121 137 155 174 193 214 236 259 284 309 335
TABLE NO. ; TS 795-1 (200 RS)
BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Description: [NITIAL, SAG TABLE OF MALLARD CONDUCTOR féff
: o
! Date of Origin Reviewed by Approved by Revision No. Unit Designation Eg
' July 1979 BREB BRI Board o TS 795-1 EF:
' SF
i Revision Date: Julv 1980, June 1981, August Y89, .lu.l. IIIII I‘)‘)‘s ..... #\u st 2013, [ebmm-,.ﬂgj{] | ;,.r__
2 f
5> N 6 g ST T R 33300 W\\m

Qm’f‘“‘ @08;&’3

pss- >



v/

(wm,

FINAL SAG TABLE
No. 3 ACSR "SWALLOW"
(300ft. Ruling Span)

nsultant TAPP RRER "?53. TAPP By MAXIMUM DESIGN TENSION = 745 POUNDS
Temp|{ TENSION SAG INCHES for SPANS IN FEET
°F_lin pounds| 150 | 200| 210] 220] 230] 240] 250] 260] 270] 280] 290] 300] 310] 320] 330] 340] 350] 360 370/ 380] 390 400
120 243( 10.1|17.9|19.7 | 216 [ 236 | 25.7| 27.9| 30.2 | 32.6 | 35.0| 37.6| 40.2| 42.9| 45.7 | 48.6 | 51.6| 54.7| 57.9| 61.1 | 64.5| 67.9 | 71.5
115 255| 9.6 17.0| 18.8 |20.6 |22.5|24.5| 266 | 28.8 |31.0| 33.4| 35.8| 38.3| 40.9| 43.6 [ 46.3 | 49.2| 52.1 | 55.2| 58.3 | 61.5| 64.7 | 68.1
110 264| 91162 17.9 |19.6 | 21.5|23.4| 253|274 |29.6|31.8| 34.1|36.5| 39.0 | 41.5 | 44.2 | 46.9| 49.7 | 52.6| 55.5 | 58.6| 61.7 | 64.9
105 282 8.7 |154|17.0 |18.7|20.4 [22.2|24.1|26.1 [28.1|30.2| 324 | 34.7|37.1|39.5|42.0 |44.6| 472|50.0]| 528 | 55.7| 58.6 | 61.7
100 298| 8.2|14.6|16.1 |17.7[19.3 |21.1|22.8|24.7 |26.6|28.7| 30.7 | 32.9| 351 | 37.4 | 39.8 | 42.3| 44.8 | 47.4| 50.0 | 52.8| 556 | 58.5
95 314 7.8|13.8|152 |16.7 183 |19.9| 216|234 |252|27.1| 29.1|31.1 332|354 |37.6 |39.9| 423 | 44.8| 473 | 40.9| 506 | 55.3
90 332 74131145 159[17.3|18.9|20.5|222 |23.9|25.7| 27.6|29.5|31.5|336 | 35.7 | 37.9| 402 | 425| 449 | 47.3| 49.9 | 52.4
85 350] 7.0 124137 {151 [16.5[17.9|19.4|21.0 |22.7 | 24.4| 26.2|28.0|29.9|31.9|33.9 |36.0 | 38.1 | 40.3| 42.6 | 44.9| 47.3 | 408
80 370 6.6|11.7|12.9 |14.2 155 |16.5|18.3|19.8 [21.4 |23.0| 24.7 | 26.4 | 28.2|30.0 | 31.9 |33.9| 359 | 38.0| 402 | 42.4 | 446 | 46.9
75 391| 6.3 (11.2/123 |135|14.8 |16.1|17.4 | 18.9 [20.3|21.9| 235|251 | 26.8 | 28.6 | 30.4 |32.2 | 34.2 | 36.1 | 38.2 | 403 | 42.4 | 446
70 412 6.0 (106|117 [12.8 |14.0 [15.2|16.5|17.9 [19.3|20.7| 22.2|23.8 | 25.4 | 27.1 | 28.8 |30.6 | 32.4 | 34.3| 36.2 | 38.2 | 402 | 423
65 435 56 (10.0|11.0 [12.0|13.2 [14.3 (156|168 [18.1 | 19.5| 20.9 | 22.4 | 23.9 [ 25.5 [27.1 |28.8 | 30.5 [32.3]| 34.1 | 35.9 | 37.9 | 39.8
60 458| 54| 95/105 |11.5 (126 |13.7 [14.9|16.1 |17.3|186|20.0 | 214|229 |24.3 |259 |27.5|29.1 |30.8| 326 | 34.3 | 362 |38.0
55 482 51| 9.0| 9.9 /10.9|11.9 |13.0| 141|152 [16.4 |17.7| 19.0 | 20.3 | 21.7 | 23.1 | 24.6 |26.1 | 27.6 | 20.2| 30.9 | 32.6 | 34.3 | 36.1
50 506| 4.8 | 86| 9.5(10.4 [11.3 (124|134 1145 [156|16.8| 18.0|19.3 | 206|220 |23.4 |24.8 26.3 | 27.8] 294 |31.0| 326 [343
Jc S ‘/ T(,; i FINAL No. 3 JESRY Q¥ 76T Seoufie FIeR = = 33300 o, ,;ZE
Pnveultans TAPE T NOTE" THIS TABLE IS FOR DESIGN PURPOSE ONLY o > gy Mo\
Abd”f K}'amm a) » -{?‘?‘S‘Q
BANGILADESH RURAL ELECTRIFICATION BOARD kg
Unit Description: 33 KV NO. 3 ACSR (6/1) "SWALOLOW" FINAL SAG TABLE
Date of Origin Reviewed by Approved by Revision No. Unit Designation
July 1979 DBRIDB BRI Board 6 T6:3:F

Revision Date:

July 1980,

June 1981. August

1989,

July 1995, August 2013,

February 2020




FINAL SAG TABLE

4/0 ACSR "PENGUIN"

(300ft. Ruling Span)
MAXIMUM DESIGN TENSION = 2276 POUNDS

Temp| TENSION - SAG INCHES for SPANS IN FEET B

°F_lin pounds| 150 | 200] 210] 220] 230] 240] 250] 260] 270] 280] 290] 300] 310] 320] 330] 340] 350] 380 370 380] 390| 400
120 7701 12.81 2271 25.0| 27.5|30.0 32.7 | 355|384 | 41.4| 44.5| 47.8| 51.1| 546| 581 |61.8 | 65.6 |69.6 | 73.6 | 77.7| 82.0 | 86.4 908
150 800} 12.3121.9|24.1| 26.5|28.9| 31.5 | 34.2 | 37.0| 39.9| 42.9| 46.0| 49.2| 52.5| 56.0 | 59.5 | 63.2 |67.0 | 70.8 | 74.8 | 78.9 | 83.1 |87 5
110 833| 11.8]21.0|23.2| 25.4| 27.8| 30.3 | 32.8 | 35.5| 38.3| 41.2| 44.2| 47.3| 50.5| 53.8 | 57.2 | B0.8 | 64.4 | 68.1 |71.9| 75.9 | 79.9 |84 1
105 868 11.412021222|244|26.7| 291 |31.5|34.1| 36.8|395| 424 | 45.4| 485| 51.7 | 54.9 |58.3 | 61.8 | 65.4 |69.1 | 728 | 76.7 | 80.7
100 906/ 10.9| 19.3 | 21.3| 23.3 | 25.5| 27.8 [30.1 | 32.6| 35.2| 37.8| 406 | 43.4| 46.3| 49.4 | 525|557 | 50.1 | 62.5 |66.0 | 69.6 | 73.3 |77.2
95 948| 10.4]18.4|20.3|22.3 | 24.4| 266 |28.8 |31.2| 33.6|36.2| 38.8 | 41.5| 44.3| 472|502 |53.3 |56.5 | 50.8 |63.1 | 66.6 | 70.1 |73.8
90 92| 9.9 176|194 |21.3|23.3| 253 (27.5/20.7 (321|345 37.0|39.6| 42.3 | 45.1 [47.9|50.9 [53.9 | 57.0 |60.2 | 63.5 | 66.9 |70.4
85  1040| ©.5|16.8 |18.5|20.3 222|242 (26.3|28.4|30.6|32.9| 353 |37.8] 40.4 | 43.0 |45.7 | 4856 |51.5 | 54.4 |57.5 | 60.6 | 63.9 |67.2
80f  1092) 9.0 16.0 |17.6)|19.4 | 21.2|23.0 (25.0 |27.0|29.2|31.4| 336 | 36.0| 38.4 | 41.0 |43.6 |46.2 |49.0 | 51.8 |54.8 | 57.8 | 60.8 |64.0
75| 1147) 86152 (16.8|18.4 (20.2|22.0 (238|258 |27.8(29.9| 321 [34.3| 366 | 30.0 |41.5 |44.1 |46.7 | 49.4 |52.2 | 55.0 | 58.0 |61.0
70/ 1206| 82| 14.5/16.0|17.5|19.2|20.9 |226 |24.5|26.4 | 284|305 |32.6| 348|371 |39.4 [41.9 |44.4 |46.9 |496 | 523 | 551 |s8.0
65| 1268) 7.8|13.8|152|16.7 |18.2|19.8 (21.5|23.3|25.1 | 27.0| 29.0 | 31.0| 33.1 | 35.3 |37.5 [39.8 |42.2 | 44.6 |47.2 | 407 | 504 |55.1
60|  1334] 7.41131|14.5|15.9 [17.3| 189 |20.5 |22.2(23.9 (257|276 | 29.5| 31.5 336 |35.7 |37.9 |40.2 |42.5 |44.9 | 473 | 499 |50.4
55|  1403| 7.0 1124 [13.7|15.1 [16.5|17.9 [19.4 |21.0 | 22.7 | 244 | 262 | 28.0| 29.9 [ 31.9 [33.9 |36.0 [38.1 |40.3 |426 | 44.9 | 473 |40 s
50| 1475 6.7 |11.8 |13.0|14.3 {156 |17.0 [18.5|20.0 | 21.5|23.2|24.9 | 26.6| 28.4 | 30.3 {32.2 |34.2 [36.2 | 38.3 405 | 427 | 45.0 473

R o FINAL. 4/0 ACSR
LR O QIE FEH wonle Bk R 34900 porE THIS TABLE IS ONLY FOR CONDUCTOR INSTALLATION

BANGLADESH RURAIL EILEFECTRIFICATION BOARD

Unit Description: 33 KV 4/0 ACSR (6/1) "PENGUIN" FINAL SAG TABLE

Date of Origin

Reviewed by

Approved by

Revision No.

Unit IDesignation

July 1979

BREB

I3IRT-13 Board

O

TS-4/0-F

81, A‘I:_l__%usl 1989, July 1995, August 2013.

February 2020

I}cvision Date: July 1989,/?1!.:1'1: LS

-
Md Mazitor Rihman) = — l i (}WM \ WQ @_ P~
anenltant TAPD RRER ONSURGNHI S TABP RRE) MU S NTETY ,\MuT0TUT Nhateqle, A Assy 2’71!‘0]4%- et
sultant, FAPR'BRE] onsultant TAPP, BRER -, (Md. Ahsany g4 ¢ nakrabortty, "‘“(‘J;(Q
) Oar,y 3 ) TN

“-onsultant TA pp BRER o 1 PP BRER



FINAL SAG TABLE
477 mcm (26/7) ACSR "HAWK"
(300ft. Ruling Span)
MAXIMUM DESIGN TENSION = 2,687 POUNDS

Temp| TENSION; SAG INCHES for SPANS IN FEET
°F _in pounds| 150 | 200{ 210] 220] 230| 240| 250| 260] 270] 280] 290] 300] 310] 320] 330] 340] %350] 360] 370] 380] 390] 400
120 1478| 15.0| 26.7| 294|323 |353| 384|41.7|451| 486|523 |561|600(64.1|683|726|77.1| 81.7|8641913! 963 101.4{106.7
115 1499| 14.8| 26.3| 29.0 | 31.8 | 34.8| 37.9| 41.1| 445| 48.0| 516 |55.3| 59.2|63.2|67.4 |716|76.0| 806 |85.2|90.0| 95.0 1100.0]105.2
110 1520| 14.6) 258| 286 | 314 |34.3| 37.3|405|438| 472|508 |545| 583 |62.3|66.3|705|749| 7948401887 |935]|985/|1036
105 1555 14.3| 26.3| 27.9|30.7 | 33.5| 36.5| 396|428 462|497 |53.3| 57.0|609|64.9169.0|732| 776 |82.1/86.7| 915! 96.3[101.3
100 1605 13.8] 24.5| 27.0129.7 | 32.4| 353(383|415| 447 |481|516|552|589|628 |66.8|70.9| 75.1|795|84.0|886]93.3| 081
g5 1660| 13.4] 23.7| 26.2 |28.7 |314| 342 | 37.1[40.1| 433 |465|499|534|57.0|608 |646|686| 727 |76918121857|902] 949
a0 1719] 128} 22.9| 2563 127.7 [30.3| 330|358 |388| 418|449 |482| 516 (551|587 |624 /663|702 |7431785|828 872|917
85 1783| 12.5| 22.2| 245 | 26.8 |29.3| 31.9| 347 | 37.5| 404 | 435 |466| 499|533 | 56.8 |604 |64.1| 679 |71.9|759|80.1 |84.3| 88.7
80 1852] 12.0| 21.3| 23.56 1258 |28.2| 30.7 | 333|360 388 |41.7 1448|479 |51.1|545|580!615|652 (6907291769 1810/| 852
75 1928| 11.5| 20.4| 225 1247 |27.0| 284|319 |346| 37.3 |40.1 |143.0{46.0[49.1|523 (557 1591|626 (6627001738 1777|818
70 201C] 11.0( 196]| 216 | 23.7 |259]| 282|306 [ 33.0| 356 |38.3 |41.1(440|470|501 |532|565| 509 (63.4 669|706 |744)| 782
65 2099] 10.6| 18.8| 20.7 |22.7 |24.8| 27.0| 293 |31.7| 342|368 |394| 4221451480 |51.1 |54.2| 574|608 |642|67.7 |71.3| 75.0
60 2196 10.1) 17.9| 19.7 | 21.7 |23.7| 258 | 28.0 | 303|326 {351 |37.7] 403|430 (459 {488 |518| 549|580 !613/64.7|68.1| 716
55 2301 96| 17.1] 18.9 |20.7 (226|246 | 26.7 | 289 | 31.2 |33.5 |36.0|38.5 | 41.1 |43.8 |466 (495|524 |554 |586 |61.8 |651| 68.4
50 2415 92| 16.3] 18.0 |19.7 |21.6| 235255276 29.7 | 320 (343|367 |39.2 |41.8 |44.4 |47.1| 50.0 '52.8 55.8 | 58.9 |62.0| 652
FINAL 477 mcm ACSR
35 Gﬁmmmﬂ 3_q¢10(.' NOTE : THIS TABLE IS ONLY FOR CONDUCTOR INSTALLATION
- BANGLADESH RURAIL EILECTRIFICATION BOARD
Unit Description: 33 KV 477 MCM ACSR (26/7) "HAWK" FINAL SAG TABLE
Date of Origin Reviewed by Approved by Revision No. Ulnmit Designation
July 1979 BRER BREB Board 6 TS-477-F
Revision Date: July 1980, June 1981, August 1989, July._‘l”‘l)‘:’;‘j- August 2013, February 2020
1b'\','ﬂ: |hu:%rdfx;an) ‘/—ﬂ \_ﬁ——"/— Congultant TAPD BRER — L
‘oneion TAPP BRED Uhanfcdllsiam), 1\5 (Md_ABdul Khalegue) nf“‘“-fﬁ{mﬁf_\ ; an ASS{"“‘:;J? h‘“‘ﬁ;‘x
..... onsultant TAPP RRER  “ONsultant TA pn RRrn PD,TA iy o F




CONDUCTOR : GROSBEAK (636 mcm)

FINAL SAG CHART

150 FEET RULING SPAN

Rated Strength : 7056 Ibs

Temp |TENSION SAG in FEET

°F  in pounds 130| 140 150 160/ 170] 180| 190| 200

120 814.25 227 2.63 302 3.44 3,88 4.35 4.85 5.37

110| 857.92 2.16 2.50 2.87 3.27 3.69 4.13 4.60 5.10

100| 909.46 2.03 2.36 2.71 3.08 3.47 3.90 4.34 4.81

90| 971.57 1.90 2.20 2.53 2.88 3.25 3.64 4.06  4.50

80| 1048.4 1.76 2.04 2.35 2.67 3.01 3.38 3.77 4.17

J[ 70| 1146.9 1.61 1.87 2.15 2.44 2.76 3.09 3.44 3.81

£ 60| 12797 1.45 1.68 192 218 247 2.77 309  3.42

50| 1472.4 1.25 1.45 1.67 1.90 2.15 2.40 2.68 2.97

TABLE NO. : TS 636-F (150 RS)

Table-8.4
FINAL SAG CHART
CONDUCTOR : GROSBEAK (636 mcm)
200 FEET RULING SPAN
Rated Strength : 7056 Ibs
Temp |TENSION SAG in FEET

°F_linpounds| 150f 160[ 170 180] 190] 200] 210] 220] 230] 240] 250
120f  1080| 228 259 293 328 366 405 447 490 536 583 633
i 110/  1137| 216 246 278 311 347 384 424 465 508 554  6.01
S 100f 1205 204 232 262 294 328 363 400 439 480 523 567
90| 1288 191 218 246 276 307 340 375 412 450 490 532
80| 1386 178 202 228 25 285 316 348 382 418 455 493
70 1513 163 185 209 234 261 28 319 350 382 416 452
60 1684 146 166 1.88 211 235 260 287 315 344 374 406
50] 1929] 128 145 164 184 205 227 250 274 300 327 354

TABLE NO. : TS 636-F (200 RS)

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: FINAL SAG TABLE OF GROSBEAK CONDUCTOR

Date ol Origin

Reviewed by

Approved by

Revision No.

Unit Designation

July 1979

BREDR

BREDB Board

I

TS 636-F

Revision Date: July 1980,

June 19¥1,

August 1989, July

1995, August 20013, Febmqn 2020

Fd

(Md M&Mm—n{mﬂj

Yapenitant TAPP RREPR

(Md.

hiﬁnu] Hago
Consultant TAPP, BRER

6)

(Debasish Chakraboity)
""n lp\'\“ r‘yrr‘n

N‘L; I,

J?s?ﬂim l,s%% %@qm

Wammeldeg: ... - T

| )n Hr" :[”‘.J_ %
(Kamrul Allsan Mollik)

Asst. Secy.

(Boexd), BREB-

WW‘.‘{Q 34800



FINAL SAG CHART
CONDUCTOR : MALLARD (795 mcm)
150 FEET RULING SPAN

Rated Strength : 10752 Ibs

Temp |TENSION SAG in FEET
o |in pounds 130 140 150 160 170]  180] 190] 200

120 1177.9 2.22 2.57 2.95 3.36 3.79 4.25 4.73 5.24
1101  1241.2 2.10 2.44 2.80 3.18 3.60 4.03 4.49 4.98
100 1315.9 1.98 2.30 2.64 3.00 3.39 3.80 4.23 4.69
90 14061 1.86 2.15 2.47 2.81 317 3.56 3.96 4.39
80 18177 172 1.99 2.29 2.60 2.94 3.30 3.67 4.07
70 1660.8 1.57 1.82 2.09 2.38 2.69 3.01 3.36 3.72
60 1854.0 1.41 1.63 1.87 2.13 2.41 2.70 3.01 3.33
501 2135.0 1.22 1.42 1.63 1.85 2.09 2.34 2.61 2.89

TABLE NO. : TS 795-F (150 RS)

FINAL SAG CHART
CONDUCTOR : MALLARD (795 mem)
200 FEET RULING SPAN

Rated Strength : 10752 Ibs

Temp (TENSION SAG in FEET
F_linpounds| 150] 160] 170] 180] 190] 200] 210] 220] 230] 240] 250

120 1563] 222 253 285 320 357 395 436 478 522 569 617
110 1646, 211 240 271 304 339 375 414 454 496 540 586
100 1744) 199 227 256 287 319 354 390 428 468 510 553
90 1862 187 212 240 269 299 332 366 4.01 439 478 518
80 2007, 173 1.97 222 243 278 308 339 372 407 443 481
70 2193] 158 180 203 228 254 282 310 341 372 405 440
60 2443 142 162 182 205 228 253 278 306 334 364 395
50 2802 124 141 159 179 199 220 243 267 291 317 344

TABLE NO. : TS 795-F (200 RS)

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: FINAL SAG TABLE OF MALLARD CONDUCTOR

Date ol Onigin Reviewed by ' Approved by Revision No. LUnit Designation

July 1979 BRERB BRED Board 6 TS 795-F

Revision Date: July 1980, Tune 1981, August 1989, Fuly 1995 August 2013, Febary 2020

e W (Md ATGW] Jehaleque) Ahsan MolliK)
. C/,/‘J Md (,,  \Vid. Mdvzammel Hug) Consultitit TAPP, BRER (K"T'_‘"’l 'soard) BREB.
CVT.L‘.I.. Mdzibur i{d:"mm{_‘ Ar WOTARP BRE ns il P ApRE: Agst, Secy. (Boarth
‘onsultant TAPP BREF ; ol

TAPP BRI .
A 43> O Y BT SRS BT 7R 34200

(Md. .
Cﬂﬂ.':lvlfﬁifﬁ‘!?ﬁfn[\{?-gp.g.-




